Maths: Number Knowledge 4A

Name Date Score
8+2= 4+4= 6-3= 10-9= Double 5 =
5+5= 9+1= 3+7= Halve 4 = 9-3=
4+6= 3 0f 10 = 10-4-= 1+1= 2of4-=
Halve 10 = 0+10= Double 4 = 6+4= 10-2=
10+0= 3+2= 10-3= Halve 2 = 8-2=
so0f b= Double 3 = 9-4-= 10-0= 4+5=
7+3= 6+4= 1+9= 7+2= tof2:=
2+2= 5+3= z7of 8= Double 1 = 10-6:=
2+8= Halve 6 = 10-8= 3+3= Halve 8 =
Double 2 = 10-1= 10-5= 10-7= 10-10=
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Maths: Number Knowledge 4A

Name Date Score
8+2= 4+4= 6-3= 10-9= Double 5 =
5+5b= 9+1= 3+7= Halve 4 = 9-3=
4+6= 5 0f 10= 10-4-= 1+1= 2of4=
Halve 10 = 0+10= Double 4 = 6+4= 10-2=
10+0= 3+2= 10-3= Halve 2 = 8§-2=
sof 6= Double 3 = 9-4-= 10-0= 4+5=
7+3= 6+4:= 1+9= 7+2= fof2=
2+2= 5+3= zof 8= Double 1 = 10-6=
2+8= Halve 6 = 10-8= 3+3= Halve 8 =
Double 2 = 10-1= 10-5= 10-7= 10-10=

- Number families & basic add / sub to 10,

- Halve / double to 10.




Maths: Number Knowledge 4B

Name Date Score
__+4=10 3+ =7 _____=3=5 10-_ =3 Double =8
5+ =10 6+_ =6 __+7=9 Halve = 2 -3=6
___+7=10 s0f =5 __-4:=9 1+ =1 $of =4
Halve = 4 ___+8:=8 Double =4 |  +4:=5 _____-2=5
8+ =8 o +2=7 __-2=8 Halve =4 8-__ =6
sof =2 Double =8 9-_ =4 ____=0=10 _+H=7
___+b =7 6+ =9 1+ =7 7+ ___ =10 $of =1
__+1=4 __+4:=5 3 of =5 Double =6 -6:=4
1+ = Halve =2 |__ -3:=4 __+3:=8 Halve =
Double =6 |10~-__ =9 _____-b=2 - 7=1 10-___ =0
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Maths: Number Knowledge 4B

Name Date Score
__+4=10 3+__ =7 ____-3=5 10-____ =3 Double ___ =8
5+_ =10 6+__ =6 __+*7=9 Halve = 2 . -3=6
. +7=10 zof =5 _____-4=9 1+ =1 sof ____=4
Halve __ = 4 +8=28 Double =4 |  +4:=5 ____-2=5
8+___ =8 _ +2=7 ___-2=8 Halve __ =4 8- =
sof = Double =8 9-_ =4 _____-0=10 ___+5=7
____+b =7 6+_ =9 1+ =7 7+___ =10 sof =1
_ +1=4 __+4:=5 5 of =5 Double =6 |__ -6:=4
1+ =9 Halve =2 |___ -3=4 ___+3:=8 Halve =
Double =6 |10-___ =9 -5=2 -~ 7=1 10 - =0

- Number families & basic add / sub to 10 WITH MISSING VALUES
Halve / double to 10. WITH MISSING VALUES.




Maths: Number Knowledge 4C

Name Date Score
13-8= 15 - = 13 12-6= zof 8= -6=9
- =7  +3:=12 13-4 =  +7=13  |Double 6=
Double 4 = 8-_ =2 __+4=1 Double 5 = -9:=4
___+8=15 Halve 10 = $of =7 13+2= 6+5=
9+5= zof 2= 9+6= ___+9=13 11-7=
15-4= 15-13 = Halve 12 = ____+8=11 ____+7=15
___+6=12 ____+9=14 ____-9=6 15-10= 14-7=
6+9= 4+7 = 14-_ =5 Halve =4 Halve =7
14-8= 15-7= 3 of =6 $0f10= 15-8+=
$of =2 _ +7=14 Double 3 = 14-_ =1 gof =3

e

Maths: Number Knowledge 4C

Name Date Score
13-8= 5-__ =13 12-6= 2 of 8= -6=9
n-___ =7 __+3=12 13- 4= ____+7=13  |Double 6=
Double 4 = 8- =2 ___+4=1 Double 5 = -9:=4
___+8=15 Halve 10 = $of =7 13+2= 6+5=
9+5= $of2= 9+6= __+9=13 11-7=
15-4-= 15-13= Halve 12 = _+8=11 ___+7=15
__+6=12 ___+9=14 -9:=6 15-10+= 14-7-=
6+9= 4+7= 14-____ =5 Halve = 4 Halve =7
14-8= 15-7= 3 of =6 $of 10 = 15-8=
gof =2 ___+7=14 Double 3 = 14-__ =1 $of =3

- Number families & basic add / sub to 15.

- Halve / double to 14.




Maths: Number Knowledge 4D

Name Date Score
_ +13=20 20-14 = ____~-b=14 Halve of 10 = 20-9+=
20 -6 = 11+9= 13-4= __-10=10 _____-8=6
12+ =19 __+12=20 20-11= 3 of =6 13-9=
13+7= 14+6= 20-_ =13 j20-12= 6+ 14 =
9+5= -8= 12 20-13 = 4+9= 13+7=
Double =8 20-12 = Double =12 +9= 20 +15=20
12+8= 5+ =14 15+5= 20-13= zof 8=
sof 6= 6+14 = 14-___ =5 +11=20 |[8+____ =20
______-15=5 sof =7 __ -14:=3 20-12= Double 7 =
_-1=9 20-6 = Halve of 10 = ______+6=20 20-____ =13

: Wr\_t:qb:: nfs;nrmfzsc ;&s tz;lgtc g;id / sub to 20, including with missing values.

Maths: Number Knowledge 4D

Name Date Score
_+13=20 20-14 = ______-b=14 Halve of 10 = 20-9=
20-6 = 11+9= 13-4-= -10= 10 -8= 6
12+ =19 _+12=20 20-11= gof ____ =6 13-9=
13+7= 14+6= 20-_____ =13 |20-12= 6+14 =
9+5= -8= 12 20-13 = 4+9= 13+7=
Double =8 20-12 = Double =12 | __ +9= 20 +15 =20
12+8= 5+__ =14 15+5= 20-13= 30f 8=
zof 6= 6+14 = 14-__ =5 ___+11=20 |8+____ =20
___-15=5 $of =7 ____-14=3 20-12 = Double 7 =
_-11=9 20-6= Halve of 10 = _____+6=20 20-__ =13

- Number families & basic add / sub to 20, including with missing values.
- Teennumber facts (13 + b)




Maths: Number Knowledge 4E

Name Date Score
____+9=19 80+ 20= Halve =8 14-9:= Double 10 =
Double 9 = __ -30=70 |13-4= 100 - 50 = _____+10= 100
19-5= so0f16= _____-10-=8 ___+40=100 |13-9=
8+9= 50+___ =100 |100-70+= 100 - 90 = 18-7=
___+b=14 10+90 = Double 8 = 4+9= sof =10
40 + 60 = Halve 18 = __-11-8 ____+30=100 |100-40=
7+9= 5 + =14 |_____ +11=13 |$of18= 18-6=
20 + 80 = 100-10= 14-9= ____-6=1 Halve =7
8 + = 15 gof =7 100 - 60 = Halve 20 = Double 7 =
Double 6 = 30+70= 100 - 80 = 14-___ =9 ____-20=80

%’ﬁﬁﬁéi‘ ‘S'fVTJ :hzai add to make 100 (40 + 60) including with missing values.

Maths: Number Knowledge 4E

Name Date Score
__+9=19 80+20= Halve =8 14-9= Double 10 =
Double 9 = __-30=70 [13-4-= 100 - 50 = ____+10= 100
19-5= sof 16 = ____-10=8 _+40=100 |13-9=
8+9= 50+___ =100 |100-70= 100 - 90 = 18-7=

+5= 14 10+90= Double 8 = 4+9:= sof =10
40+ 60= Halve 18 = _-1-8 __+30=100 |100-40-=
7+9= 5+ =14 __+11=13 $of 18 = 18-6=
20 + 80 = 100-10= 14-9= __-6=1 Halve =7
8 + =15 $of =7 100 - 60 = Halve 20 = Double 7 =
Double 6 = 30+70= 100 - 80 = 14-____ =9 _____-20=80

Double / halve to 20.

Multiples of 10 that add to make 100 (40 + 60) including with missing values.




Maths: Number Knowledge 4F

Name Date Score

46 =40+ ___ 356=30+___ 34=____+4 83=80+__

b0+ 3 = 3 tens + 5 ones = 12=__ +2 7tens+ ___ _ones= 75
2 tens + 6 ones = 62=__  +2 _ tens+8ones=78 [|60=6tens+___ ones
41=_  +1 80+8= 42 = ___tens+___onhes |1tens+ 6 ones-=
___tens+3ones=33 |___ tens+bones=56 | tens+3ones=83 |76=__  +6

80+1= 10+ 3= B7 = _tens+___ohes |24=___  +4
84=__  +4 ____ _tens+1lone=091 B1=560+__ 2 fens + 2 ones =

5 tens + 3 ohes = 82= __tens+___ones |___ tens+3ones= 43 |[95=___  +5H

70+5= 6 tens + 4 ones = 9 tens + 1 ones = 80+9=

tens + 9 ones = 79

77 = +7

11= __ten+ __one

7 tens + 7 ones =

Place value up to 100 (e.g. 45 = 40 + 5)

Maths: Number Knowledge 4F

Name Date Score

46 =40+ ____ 35=30+ 34=____+4 83=80+___

50+ 3 = 3 tens + b ones = 12=__ +2 7 tens+___ _ones= 75
2 tens + 6 onhes = 2= +2 ___tens+8ones=78 [60=6tens+_____ ones
41=_  +1 80+8= 42 = __tens+__ones |1tens+ 6 onhes=
__tens+3o0nes=33 |____tens+bones=bH6 |____ tens+3ones=83 [76=___ +6

80+1= 10+ 3= 57 = _tens+_ones [24=__  +4
84=__  +4 ____tens+1lone=091 51=50+___ 2 fens + 2 ones =

b tens + 3 ones = 82= __tens+___ones |___ tens+3ones= 43 |95=__ +5

70+5= 6 fens + 4 ones = 9 tens + 1 ones = 80+9=

tens + 9 ones = 79

77 = +7

11= __ten+ __onhe

7 tens + 7 ones =

- Place value up to 100 (e.g. 45 = 40 + b)




Maths: Number Knowledge 46

Name Date Score
20+ 13 = 43 +20= 60+ 14 = 55 + 40 = 40 + 44 =
43+ ___ =73 22 +20= 72-30= 30+56 = 80+19=
_ +33=63 ___ +6b=95 45 + 40 = 65-50 = __-B0=42
43 +50 = 67 -20= ___-40-=18 ___-30=5bb 50 + 32 =
64+_ =84 |76+10= 41+ 30+= 20+ 37 = 89 -40=
30+12 = 44+ =84 92-_ =62 __-b0=32 78-__ =28
95 -50= 30+ 67 = 68-__ =28 67 + 20 = 97-___ =37
20+ 11= 72-60= 20+16 = 93 -60= 41+40=
54 - 20 = 31+40-= 10+79= 30+ 62 = 83 - =23
13+40= 89-___ =69 __-10=78 ___-60=21 50 + 26 =

T s o & v G100,

Maths: Number Knowledge 4G

Name Date Score
20+ 13 = 43 +20= 60+ 14 = 55 + 40 = 40 + 44 =
43+ =73 22 +20= 72-30= 30+56 = 80+ 19 =
_ +33=63 ___ +65=95 45 + 40 = 65 - 50 = __-B0=42
43 +B0 = 67 - 20 = ___-40-=18 _-30=55 50 + 32 =
64+ =84 |76+10= 41+30= 20+ 37 = 89 -40 =
30+12 = 44+ -84 92-__ =62 __-b0=32 78-_ =28
95 - 50 = 30+ 67= 68-__ =28 67 +20= 97 - = 37
20+ 11 = 72-60= 20+ 16 = 93 - 60 = 41+ 40 =
54 - 20 = 31+40= 10+79 = 30+ 62= 83 - =23
13+40= 89-__ =69 _ -10=78 ____-60=21 50 + 26 =

~ Counting forward and back in tens from different start numbers.
Adding multiples of 10.to tens & ones (to 100)




Maths: Number Knowledge 4H

Name Date Score
____~-9=4 Halve = 6 100 -90 = 40 + 20 = 70-50 =
18-7= 90+ 10= Halve 20 = Double =8 _+9=13
_+60=90 50-10+= Double =12 |70~ =50 Halve 10 =
Double 2 = fof =10 70+30+= Halve 16 = ____-40= 40
Double =14 |Double b = Double 1 = 90-___ =60 sofl14=
Halve 8 = 60 -20= Halve =7 Double 9 = Halve =2
3 of =9 |___-6=1 14-____ =5 Halve 6 = Double 8 =
50 - 40 = 100 - 40 = 5 of 16 = Double _____ =6 100-____= B0
18-6= ____+40= 80 100-_____ =80 Halve 18 = zof 12 =
____+50=90 Double =20 |____+40=100 |14-__ =9 _____-40= 20
" inforce v and ol 0

Maths: Number Knowledge 4H
Name Date Score
. -9:=4 Halve = 6 100 - 90 = 40 + 20 = 70 - 50 =
18-7= 90 + 10 = Halve 20 = Double =8 _+9=13
_____+60=90 50-10= Double ____ =12 |70~ =50 |Halve 10 =
Double 2 = $of =10 70+ 30 = Halve 16 = _-40= 40
Double =14 |Double 5 = Double 1 = 90-__ =60 $ofl14=
Halve 8 = 60 - 20 = Halve =7 Double 9 = Halve =2
% of =9 _ -6=1 14-__ =5 Halve 6 = Double 8 =
50 ~ 40 = 100 -40 = 3 of 16 = Double =6 100-____ =50
18-6= _____+40= 80 100-_____ =80 Halve 18 = s of12=
_____+50=90 Double = 20|____ +40=100 |14-__ =9 _____-40= 20

- Multiples of 10 that add to make up to 100 (50 + 30)
- Reinforce halve and double to 20.




Maths: Number Knowledge 4T FINAL CHALLENGE

Name Date Score
13-___ =7 17-____ =8 _____-40 =60 46=___ +6 70-___ =130
. ~=7=3 80+__ = 100 Halve =9 |87-___ =27 67=60 +_____
____+60=100 |___ -10=40 56 - =16 70-_____ =10 89-50=___
45- =b sof ___ =9 82=___ +2 100-___ =30 80-___ =20
Double =14 |56=50+___ __ |91=90+___ 90-30= sofl4=
Halve =4 60-_ =20 Halve = 6 _+9=12 71- =11
3 o0f 18= -6=11 | -9=3 Double ____ =18 |63-60=
__-40=70 |100-___ =40 |7of =7 32=_____+2 100 - 50 =
18-____ =12 73 - =3 ___-30=70 Halve 18 = 3 of =
_____+b50=90 _____-50=15 81+40= _______-5=09 -40= 30

- Reinforce ALL adding and subtracting within 20 and multiples of ten to 100.

L Reinforce hacevalie 0 100

Maths: Number Knowledge 4I FINAL CHALLENGE

Name Date Score
13-__ =7 17-_ =8 ___-40 =60 46=__ +6 70 - = 30
_~7=3 80+ ___ =100 Halve _____ =9 |87-__ =27 67=60 +____
__+60=100 |___-10=40 56 - =16 70-_____ =10 89-50=___
45- =5 2of =9 82=___+2 100-____ =30 80-__ =20
Double ____ =14 |56=50+____ |91=90+___ 90-30= 3 of 14 =
Halve =4 |60-__ =20 |Halve____ =6 __+9=12 71- =11
5 of 18 = -6= 11 -9=3 Double =18 |63-60=
_ -40=70 |100-___ =40 |3of =7 32 = +2 100 - 50 =
18- =12 73-__ =3 ___-30=70 Halve 18 = 5 of =6
_____+50=90 _____-50=15 81+ 40 = _______-5=9 _______-40= 30

- Reinforce ALL adding and subtracting within 20 and multiples of ten fo 100,
- Reinforce doubling and halving to 20
- Reinforce place value o 100,




Maths: Number Knowledge BA: Number Bonds

Name Date Score
Double 8 = _+7=21 ____+600= 1000 | 900 + 100 = 30-19=
13+ =21 100 + 900 = 16 +7 = 29 -18 = zof =6
$of14= 1000-___ =300 |___+15= 27 3of =8 1000 - 300 =
800 + 200 = Double 7 = 500 + b00 = 19+ ___ =2b 13+__ =20
18- =12 3 of 20 = 1000- 900 = Double 9 = Halve of 8 =
Halve of 10 = 18 + 6 = Halveof ____ =3 700+ 300= 1000 -~ 800 =
30-____ =19 Double 6 = 300 + 700 = __-13=14 25-13=
1000 - 500 = ___-200= 800 |25-17= $0f10= 3 of 18 =
14+9= 9+16 = 1000-____ =400|13+5= ___+9=22
1000-___ =900 |___-7=16 29 -17 = __ +800= 1000 |____ -400-=600

i ;Zi:u;?iir:?;rlg%c:ig P re )1000 (700 + 300)

Maths: Number Knowledge 5A: Number Bonds

Name Date Score
Double 8 = _+7=21 ____+600= 1000 |900 + 100 = 30-19=
13+ =21 100 + 900 = 16+7:= 29-18= zof =6
$ofl14= 1000-___ =300 |___+15= 27 fof ___ =8 1000 - 300 =
800 + 200 = Double 7 = 500 + 500 = 19+ =25 13+_ =20
18-__ =12 $o0f 20 = 1000- 900 = Double 9 = Halve of 8 =
Halve of 10 = 18+ 6 = Halve of ___ =3 {700+ 300 = 1000 - 800 =
30-____ =19 Double 6 = 300+ 700 = __-13=14 25-13=
1000 - 500 = __-200= 800 |25-17= $0of 10 = zof 18 =
14 +9 = 9+16= 1000-____ =400|13+5= ___+9=22
1000-___ =900 |____-7=16 29-17 = ____+800= 1000 |____ -400=600

- Teen number facts (up to 30)
- Multiples of 100 that add to 1000 (700 + 300)




Maths: Number Knowledge 5B: 2 x tables

Name Date Score

10x2-= 20+ 2= 9x2= 7x2c= 18+2=
6+2= 2x4:= 4+2= 22+2= 2x3=
11x2= Ix2-= 2x5b= 2x1= 2x7=
6x2= 14 -7 = 16+2= 20+ 2= 8+2=
24 -2 = 13x2= 2+2= 2x6= 10+5b=
2x2= bx2= 14 +2= 8+4= 24 +12 =
26 + 2= 10-2= 4x2= 2x9-= 8x2=
16 + 8 = 12x2= 18+9= 2x8= 2+1=
2x1l= 3x2= 12+6= 6+3= 22 +11=
2x13= 26 +13 = 2x10= 12+2= 2x12=

- 2 Xtables
Maths: Number Knowledge 5B: 2 x tables

Name Date Score

10x2= 20+ 2= 9x2= 7x2= 18+2=
62z 2x4 = 4+2= 22+ 2= 2Xx3=
1lx2= Ix2= 2xb= 2x1= 2x7=
6x2= 14 -7 = 16+2= 20+2= 8+2=
24 + 2 = 13x2= 2+2= 2x6= 10+5=
2x2:= bx2= 14-2= 8+4-= 24 +12 =
26+ 2= 10+2= 4x2= 2x9= 8x2:=
16 -8 = 12x2-= 18+9= 2x8= 2+1=
2x1l= 3x2= 12+-6= 6+3= 22 +11=
2x13= 26 + 13 = 2x10= 12+2= 2x12 =

2 X tables




Maths: Number Knowledge 5C: 10 x tables

Name Date Score
10x3= 30-10= 10x2= 10x12 = 50+ 5 =
10x6= 10x1= 10x9= 10+1= 40 + 4=
60 + 10 = 80+8= 100 + 10 = 130+ 10 = 130+ 13 =
20+10+= 10x 8= 4x10= 110+ 10 120+12 =
10x5= 90 +10= 120+ 10 = 10x11= 12x10=
6x10= 10x4 = 13x10= 10x 13 = 2x10=
40+10= 70+10 = 1x10 = 3x10= 10x 10 =
60 = 6 = 90+9= 5x10 = 50+ 10 = 9x10=
10x7= 10x 10 = 70+ 7 = 20+2= 10+10 =
80 +10 = 100+ 10 = 8x10 = 30+ 3= 7x10 =
10 x table

Maths: Number Knowledge 5C: 10 x tables
Name Date Score
10x 3= 30-10= 10x2= 10x12 = 50+5=
10x6= 10x1= 10x9+= 10+1= 40+ 4 =
60 +10 = 80+8= 100 = 10 = 130+ 10 = 130 +13 =
20+10+= 10x 8= 4x10= 110 + 10 120+ 12 =
10x5= 90+10+= 120+ 10 = 10x11= 12x10=
6x10= 10x 4= 13x 10 = 10x13 = 2x10=
40+10= 70+10 = 1x10 = 3x10= 10x 10 =
60 + 6 = 90+9= 5x10 = 50+ 10 = 9x10=
10x7= 10x10 = 707 = 20+ 2= 10+10 =
80 +10 = 100+ 10 = 8x10 = 30-3= 7x10 =

10 x table




Maths: Number Knowledge 5D: B x tables

Name Date Score

4x5-= 5x5= 10+5= 8x5= 25+5=
6xb= 5x2-= 10x 5= 50+5= 15+5=
1xb= 5x8= 7xb= 5+5= bx12=
40+ 8= 30+5= 5x1l= 60+5= 40+ 5=
45+9 = 5x3= 5x1= 5x6= 55 +11=
25+5= 5x9= 36+7= 65+5= 5x4-=

10+2= 5+1= 50 +10 = 3x5= 11x5=

5x10= 55+ 5 = 2xb= 5x7-= 20+ 4=
15+3= 20+5= 45 +5= 9x5= 30+6=
12x5b= 13x5= 36+5= 5x5= 60 =12 =

- 5xtables
Maths: Number Knowledge 5D: 5 x tables

Name Date Score

4xb= 5xb= 10+5b= 8x5= 25+5h=
6xb= 5x2= 10x5= 50+5= 15+5=

1x5= 5x8= 7xb5= 5+b= 5x12=
40+8= 30+5= 5x1l= 60+5= 40+5+=
45+ 9 = 5x3= 5x1l= 5x6= 55+ 11 =
25+5= 5x9-= 35+7= 65+5= 5x 4=

10+-2= 5+1= 50+ 10 = 3x5= 11x5=

5x10= 55+ 5= 2xb= 5x7= 20+ 4=
15+ 3= 20+5= 45 +5 = 9x5= 30+6=
12x5= 13x5= 36+5= 5x5b= 60 +12 =

- 5 xtables




Maths: Number Knowledge BE: 2,5,10 x tables

Name Date Score

2+2 5x2= 14+ 2= _=+=b=3 10+5=
7x___=3b 5x4= 10x 5 30+6= __xb=25
5x1l= __x2=2 __ x5=20 14+2= 20:4 =
6xb= 5x3= 14-__ =2 7x2= 15 +3 =

24 -2 = 25+bH= 7x2-= 2xh= 45 + 5 =
__xb5=45 2x1= 70+10 = 10 = =b 10x12 =
35+7= 8 x = 80 Ix2= 30+5= . *9=5b
Bx 9= 30+10+= ____x10=50 ___xh=15 2+2-=
7xb= 6x5= 2x7= 20+ 5= 10+10 =
35+ =7 5x 5= 50+10= 25 +5= 7x_____ =70

- 2,5and 10x table

Maths: Number Knowledge 5E: 2,5,10 x tables

Name Date Score

2+2 Bx2= 14+2= __+b=3 10+5=
7x___ =35 5x4= 10x5 30+ 6= ___xb=2b
5x11= _+2=2 _xb5=20 14+2= 20+ 4 =
6x5= Bx3= 14+ =2 7x2c= 15+3 =

24 + 2 = 25+ 5= 7x2= 2xb= 45+5=
__x5=45 2x1= 70+10 = 10+ =5 10x12 =
36+7= 8x____ =80 1x2= 30+5= _____+9=5bH
5x9= 30+10= __x10=50 ___xb=15 2:2=
7x5= 6x5= 2x7 = 20+5 = 10+10+=
35+____ =7 5x5= 50 +10= 25+5b= 7x =70

- 2,5and 10x table




Maths: Number Knowledge 5F: 2,5,10 x tables & fractions

Name Date Score /50
$of22= +5= 2 100+ =10 |bx___ =35 1/10 of 30 =
12+2= zof =1 $of 24 = 1/10 of 50 = 3o0f =9
B5 + 11 = =10= 3 35:5= _ :10=7 80 - = 8
1/5 of 20 = 14+ =7 1/5 of 10 = _xb=40 $of =12
2b+5H= gof =10 10x____ =80 /5 of 15 = 50+b =
20+5= 70+__ =7 +Hh= 6 9x =18 1/10 of 60 =
$ofl2= 10 + =2 1/10 of 40 = ___=b=6 8 x = 40
____+b=3 1/5 of 25 = 60+_ =6 3x___ =30 1/5 of 30 =
1/10 of 20 = 30:5= 45+ 5= sof =8 ___+10-=18
_____=+b=10 1/10 of 80 = 1/5 of 50 = 40+5= sof =10
et
Maths: Number Knowledge 5F: 2,5,10 x tables & fractions

Name Date Score /50
fof22:= + 5= 100+ =10 |bx____ =35 1/10 of 30 =
12+2= sof =11 1of 24 = 1/10 of 50 = $o0f =09
b5 +11= +10= 3 35+5= ___=10=7 80+__ =8
1/5 of 20 = 14 + =7 1/5 of 10 = ___ xb=40 sof =12
25+5= zof =10 10x =80 1/5 of 15 = 50+ 5=
20+ 5= 70+ =7 +5=6 9x___ =18 1/10 of 60 =
+ofl2= 10 + =2 1/10 of 40 = _____+b=6 8 x = 40

+5=3 1/5 of 2b = 60+__ =6 3x___ =30 1/5 of 30 =
1/10 of 20 = 30+5= 45+ 5 = $of =8 __+10:=8
%5z 10 1/10 of 80 = 1/5 of B0 = 40+5= sof =10

- 2,5 and 10x table
Fractions




Maths: Number Knowledge 56: Number Bonds

Name Date Score

12 +28= 900 - 300 = 400 + 100 = 50-17 = 300 + 500 =
100 + 400 = 200 + 700 = 50 - 22 = 11+19= 50 - 28 =
31+19= 400 + 200 = 600 - 400 = 500 - 100 = 25+ 15 =
50 - 13 = 39+11= 50 - 35 = 600 + 300 = 900 - 400 =
300 + 600 = 50-12 = 23 +17 = 13+37= 800 - 700 =
900 - 200 = 15+35= 50 - 38 = 50-31= 50 -39 =
22+ 28 = 19+31= 800 - 500 = 700 + 200 = 50~ 37 =
37+3= 50~ 15 = 50 -11= 600 - 200 = 500 + 300 =
200 + 400 = 800 - 300 = 900 - 700 = 50-33= 50 -19 =
17 + 23 = 500 + 400 = 900 - 600 = 500 - 400 = 18+12=

" Mulies of 100 thet o up 1o 1000 (700 + 200
Maths: Number Knowledge 56: Number Bonds

Name Date Score

12+28= 900 - 300 = 400 + 100 = 50 - 17 = 300 + 500 =
100 + 400 = 200 + 700 = 50 - 22 = 11+19= 50~ 28 =
31+19= 400 + 200 = 600 - 400 = 500 - 100 = 25+ 15 =
50 - 13 = 39+11= 50 -3b = 600 + 300 = 900 - 400 =
300 + 600 = 50-12 = 23+ 17 = 13+37 = 800 - 700 =
900 - 200 = 15+35= 50 - 38 = 50-31= 50 -39 =
22 +28 = 19+31= 800 - 500 = 700 + 200 = 50 - 37 =
37+3= 50-15= 50-11= 600 - 200 = 500 + 300 =
200 + 400 = 800 - 300 = 900 -~ 700 = 50 ~-33 = 50 - 19 =
17 + 23 = 500 + 400 = 900 - 600 = 500 - 400 = 18 +12 =

- Number bonds up to 50.

- Multiples of 100 that add up to 1000 (700 + 200)




Maths: Number Knowledge 5H: Number Bonds

Name Date Score

9+___ =100 100 - 68 = 100 - 23 = 100 - B9 = 100 - 38 =
100 - 27 = 93+ ___ =100 100 - 75 = 100 - 89 = 34+___ =100
89+ __ =100 38+___ =100 86+ ___ =100 27+ ____ =100 100 - 56 =
59+ ___ =100 67 + ___ =100 100 -43 = 100 -39 = 81+__ =100
100 -78 = 23+___ =100 100 - 60 = 100 - 93 = 60+ ___ =100
54 + =100 g2+ ____ =100 54+ =100 100-12 = 86 +____ =100
100 - 54 = 56 + =100 84+___ =100 75+ ____ =100 100 - 86 =
100 - 67 = 100 - 84 = 78 +___ =100 100 -76 = 100 - 34 =
43+____ =100 98 +___ =100 100-21= 100 - B4 = 100 - 86 =
21+___ =100 100 -81= 87+____ =100 68+ ___ =100 100 - 87 =

- Number bonds up to 100
Maths: Number Knowledge 5H: Number Bonds

Name Date Score

9+___ =100 100 - 68 = 100 - 23 = 100 - 59 = 100 - 38 =
100 - 27 = 93+___ =100 100 - 75 = 100 - 89 = 34+____ =100
89 +___ =100 38+___ =100 86+ ___ =100 27+ ___ =100 100 - b6 =
59+ ___ =100 67+ ___ =100 100 - 43 = 100 -39 = 81+___ =100
100-78 = 23+____ =100 100 - 60 = 100 - 93 = 60+ ___ =100
54+ ____ =100 82+ ___ =100 54+ ___ =100 100-12 = 86+ _ =100
100 - 54 = 56 + =100 84+ ___ =100 75+ ___ =100 100 - 86 =

100 - 67 = 100 - 84 = 78 +___ =100 100 - 76 = 100 - 34 =
43+ ____ =100 98 +___ =100 100 -21= 100 - 54 = 100 - 86 =
21+____ =100 100-81= 87+ ___ =100 68+ ___ =100 100 - 87 =

- Number bonds up to 100




Maths: Number Knowledge 5I: Making tens

Name Date Score /36

18+ =22 _+29= 33 28+ = 34 29 +b =
15+7= 8+16 = 2b+7 = 23+_ =32
17+_____ =22 _ +17= 24 26+ =32 8+13=

25+ 8= 27 + 8 = _+27= 31 ___+17=23
8+17= +22= 31 19+6= 18+6=

__ +26=33 14 +7 = 34+7 = ___+le=21
19+5= _ +13=22 3+ =32 _+14 =22
8+15= 18 + 7= 22+ =31 28 +7 =

24+ = 32 28+____ =33 24 +7 = 23+___ =31

- Using the 'making tens’ strategy (totalling up to 40)
- Adding by using the nearest ten,
Maths: Number Knowledge 5I: Making tens

Name Date Score /36

18+ =22 ___+29= 33 28+__ =34 29+5b =
15+7= 8+16= 2b+7 = 23+ =32
7+__ =22 __+17= 24 26+____ =32 8+13=

25+ 8= 27 + 8 = _+27= 131 ___+17=23
8+17 = +22 = 31 19+6+= 18+6 =

_ +26=33 14 +7 = 34+7= ___+l6=21
19+5= _+13=22 3+ = 32 _+14 =22
8+15= 18 + 7= 22+ _____ =31 28 +7 =

24+ = 32 28+ _____ =33 24 +7 = 23+______ =31

- Using the 'making tens' strategy (totalling up to 40)

- Adding by using the nearest fen.




Maths: Number Knowledge 5J: Making tens

Name Date Score /36
8+ 16 = -6=17 _____-8=16 33-6=
26-__ =18 18 +4 = 25+ 7= _+9=32
27 +8 = ___+7=22 _____-8=17 8+13=
25+ 8 = 24 -8 = 24-5b= 27~-_____ =19
22-_____ =15 34-7= 19+__ =25 18+6=
35-__ =28 14+7= 31-5= 25-7=
19+5= _+13=22 25-___ =18 ___+14 =22
32-____ =26 18 +7= -7=25 -9= 18
24 +8 = 36-_____ =29 24 +7 = 23+ 8=
Using the 'making tens’ strategy (totalling up to 40)
Adding and subtracting by using the nearest fen.
Maths: Number Knowledge 5J: Making tens
Name Date Score /36
8+ 16 = ___~6=17 ____-8=16 33-6=
26~ =18 18+4= 25+7 = __ +9=32
27 +8 = ___+7= 22 ___ -8=17 8+13=
25+ 8 = 24 -8 = 24 -5 = 27~-_____ =19
22-_____ =15 34-7= 19+___ =25 18+6=
35-____ =28 14+7= 31-5= 26-~7=
19+5= _+13=22 25-___ =18 ___+14 =22
32-___ =26 18 + 7= ______-7=25 -9=18
24 + 8 = 36-____ =29 24 +7 = 23+8=

Using the 'making tens' strategy (totalling up o 40)
Adding and subtracting by using the nearest ten.




Maths: Number Knowledge 5K - FINAL CHALLENGE!

Name Date Score /40
30+6= ___xb=3b ____+8=5 ____=b=3
18+ =9 _=5=6 Halve of 8 = 36-7=

800 - 300 = 39+11= 1000 - 800 = 2b+__ =5
_=2=1 -12= 38 _ -=13=12 +2=12
23+9= 15+ 35 = 2of =9 x5 =45
8+13= 19+31= 13+9= 35+ =5
27-_____ =19 50-____ =35 9+13= 5x9=

__ -84=16 78 +____ =100 100-76 = 100 - 34 =
_+2=10 +5=9 +5=8 35+5=
______+700= 900 50-22= 11+19= 50 - 28 =

Number bonds up to 100, Multiples of 100 up to 1000.

2,5,10 times tables facts

Adding and subtracting by using the nearest ten.

Maths: Number Knowledge 5K - FINAL CHALLENGE!

Name Date Score /40
30+6= ___xb=35 ____+8=5H ___+b=3
18 + =9 __=b=6 Halve of 8 = 36-7=

800 - 300 = 39+11= 1000 - 800 = 2b+____ =5
= 2=1u ~-12= 38 __-13=12 % 2=12
23+9= 15+ 35= $of =9 __ _xb=z45
8+13= 19 +31= 13+9= 35+ =
27-___ =19 50-__ =35 9+13= 5x9=
____-84:=16 78 + ___ =100 100 - 76 = 100 - 34 =
_=2=10 _____+b=9 +5=8 35:5=
______+700= 900 50-22= 11+19= 50 - 28 =

- Number bonds up to 100, Multiples of 100 up to 1000.

2,5,10 times tables facts

- Adding and subtracting by using the nearest ten.




Maths: Number Knowledge 6 A

Name Date Score
900+ ___ =1000 |56+ ___ =100 1000 - 600 = 42 +____ =100 1000 - 200 =
100 - 16 = 100 -~ 38 = 500+ ___ =1000 |27+ ___ =100 1000 - 250 =
650+ ____ =1000 |1000 - 950 = 84+ __ =100 68+___ =100 100 - 24 =
43 +___ =100 1000 - 900 = 100 - 34 = 16+ =100 600+ ____=1000
89+__ =100 19+__ =100 1000 - 650 = 750+ ___ =1000 |24+__ =100
100-19 = 100+ __ =1000 |250+ ___ =1000 |23+ __ =100 100 - 84 =
100 - 27 = 1000 - 50 = 100 - 89 = 100-32 = 700 - 450 =
21+____ =100 100-23 = 34+___ =100 350 +____ =1000 |1000 -500 =
1000 - 350 = 50+ __ =1000 1000 - 850 = 32+___ =100 100 - 28 =
950+ ___ =1000 |100-43 = 100 -21= 100 - 42 = 38+___ =100

it of 50 tha add up 2 1000

Maths: Number Knowledge 6A

Name Date Score
900+ ___ _=1000 |56+ ___ =100 1000 - 600 = 42+ ___ =100 1000 - 200 =
100-16 = 100 - 38 = 500+ ___ =1000 |27+ ___=100 1000 - 250 =
650+ ____=1000 1000 - 950 = 84+ ___ =100 68 +____ =100 100 - 24 =
43+ ___ =100 1000 - 900 = 100 - 34 = 16+___ =100 600 + ___=1000
89 +____ =100 19+__ =100 1000 - 650 = 750+ ___ =1000 (24+___ =100
100-19 = 100+ ___ =1000 |250+__ =1000 |23+ __ _=100 100 - 84 =
100 - 27 = 1000 - 50 = 100 - 89 = 100-32 = 700 - 450 =
21+___ =100 100 - 23 = 34+___ =100 350+ __ =1000 |1000 -500 =
1000 - 350 = 50+ ___ =1000 1000 - 850 = 32+___ =100 100 - 28 =
950+ ___ =1000 |100-43 = 100 -21+= 100 - 42 = 38+__ =100

- Reinforce number bends up to 100
- Multiples of 50 that add up to 1000




Maths: Number Knowledge 6B

Name Date Score
2x____ =20 17x0= 19 x 10 = ___+1lo=12 14 x1=
150+ 10 = __=10=18 10x____ =0 10x1= 7x___ =0
14x__ =0 16 x 10 = 6x1:= 2x0= 60+ 10 =
7 x 10 = __x10=90 13x10= 130+ =13 12x0=
80+10= ___xl1=2 ___+10=4 __x10=80 __x1=5
12 x 10 = 110+10 = 10x10 = 17x1= 190+____ =19
110+ ____ =1 60+ ___ =6 190+___ =19 |18x10= 11x1=
16 x1= 50+10= 5x0= 70+______ =7 4 x10 =
___+10=18 ___x1=8 ____=10=14 16 x0 = ____+10=13
4x____ =4 150 + 10 = 120 + 10 = 150 = 10 = 17 x 10 =

- 01and 10 x tables.

Maths: Number Knowledge 6B

Name Date Score
2x____ =20 17 x0= 19x10= _=+1o=12 14 x1=
150 + 10 = __ +10=18 10x___=0 10x1= 7x__ =0
4x__ =0 16 x10 = 6x1l= 2x0= 60+ 10 =
7 x10 = ___x10=90 13x10= 130+ ____ =13 12x0=
80+10= ___x1=2 __+10:=4 _x10=80 ___x1=5
12 x 10 = 110+ 10 = 10x 10 = 17x1= 190+ ___ =19
110-_____ =1 60+___ =6 190+__ =19 |18x10= 11x1=
16 x1:= 50+ 10 = 5x0-= 70 + =7 4x10 =
___+10=18 _x1=8 _+10=14 |16 x0= =+ 10=13
4x___=4 150 + 10 = 120+ 10 = 150 = 10 = 17 x 10 =

- 0,1and 10 x tables.




Maths: Number Knowledge 6C

Name Date Score
1x3= 3x2= 15+3= 3x3= ___=3=2
30+3= =+ 11=3 12x__ =36 3x___ =24 15+5=
____+8=3 12+ 4= 3:1= 12+-3= 18+ 6=
4x 3= 3x__ =9 3Ix_ 10x 3= =% 3=
11x3= _x3=2 9+3= ___x3=6 8x3=
21+ =7 27 + 3 = 21+7 = 3x7= 3x_____
30+3= 3x1= 33+3= 3:3= 6+2=
__ x3=18 3x____ =33 3x__ hbx3= 36 +12=
24 + 3 = 36+3= 13x 3= 3x9= 9x 3=
27 +9 = 3x____ =15 3x6= ____+3=6 39+3=

3x table

Maths: Number Knowledge 6C

Name Date Score
1x3= 3x2= 15+3= 3x3= ___=3=2
30+3= o +=11=3 12x__ =36 3x__ =24 15+5=
_ :+8=3 12+4-= 3+1= 12+3= 18+6=
4 x 3= 3x__ =9 3x__ 10x 3= __+3=3
11x3= _x3=21 9+3= __Xx3=6 8x3=
21+ =7 27 -3 = 21+7 = 3x7:= 3X___
30+3= 3x1= 33+3-= 3+3= 6+2=
__ x3=18 3x___ =33 3x____12= bx3= 36 +12 =
24 + 3 = 36+3= 13x3= 3x9= 9x3=
27 +9 = 3 x =15 3x6= +3=6 39+3=

- 3x table




Maths: Number Knowledge 6D

% Name Date Score
21+ 3= 3x8= 3x___ =18 3x7-= 27 +3 =
9x __=18 ___+9=5 24 +8 = 18+____ =9 ___x5=4b
8x5= 80+10+= 90+9-= 25+5= 40+5=
45 + 5 = 3x9:= 40+___ =5H 8x3= 18+6=
___+3=8 ___+9=2 5x9:= ___+7=hH 110+ 10 =
5x8= 7x2= ____+9=3 7x____ =21 14+ =2
9x3:= __+7=3 16+2-= 12-2= 306 =
+10=3 15 =+ =h ___+b=10 3xb= _=+b=3
5x3= 10x 3= 30+3= 10x 8= 3x10=
10x____ =40 10x5= 50 +10 = 70+___ =7 8x___ =80
- 235,10 x tables.
Maths: Number Knowledge 6D
Name Date Score
21+3= 3x8= 3x___ =18 3x7= 27 +3 =
9x __=18 +9:=5 24 +8= 18+____ =9 __xb5=45
8x5= 80+10= 90+9= 2b+5= 40+5=
45+ 5= 3x9= 40+____ =5 8x3= 18+6=
___+3:=8 __+9=2 5x9= _+7=b 110+ 10 =
5x8= 7x2= . +9=3 7x____=21 14 = =2
9x3= __+7=3 16+2= 12+2= 30+6=
__+10=3 15-___ =5 +5=10 3x5= +5=3
5x3= 10x 3= 30+3= 10x8= 3x10=
10x____ =40 10x5= 50 +10 = 70+ ____ =7 8 x = 80

- 2,3,5,10 x tables.




Maths: Number Knowledge 6E

Name Date Score

4x1 = 4+1= 4 x5z 32+4= 11x4=
24 + 4 = 4x8= 4xb= 8+4-= 4x11=
9x4-= 4x4= 24 + 6= 4x9:= 36+4=
6x4= 1x4= 40+10= 48 - 12 = 16 -4 =
4x12 = 16 + 4 = 4%x7= 4x4-= 48 + 4 =
2x 4= 36 9= 12+4-= 28 +7 = 12x4=
8+2= 4x2= 4+-4:= 44 - 11 = 44 + 4 =
12+3= 5x4= 8x4= 7x4:= 4x10=
3x4= 20+ 4= 10x 4= 32+ 8= 13x 4=
4x3= 20+5= 28 + 4 = 40+ 4= 4x13=

- 4xtable
Maths: Number Knowledge 6E

Name Date Score

4x1 = 4+1= 4x5b= 32+4-= 11x4-=
24 + 4= 4x8= 4x6= 8+4= 4x11=
9x 4= 4x4-= 24 6= 4x9-= 36 +4-=
6x4= I1x4= 40+10= 48 + 12 = 16 = 4 =
4x12= 16 =4 = 4x7= 4x4-= 48 + 4 =
2x 4= 36 +9= 12+ 4= 28+7 = 12x4:=
8+2= 4x2= 4:4= 44 - 11 = 44 - 4 =
12+3= 5x4= 8x4-= 7x4= 4x10 =
3x4= 20+ 4= 10x 4= 32+8+= 13x4=
4x 3= 20+5= 28 +4 = 40+ 4= 4x13=

- 4 xtable




Maths: Number Knowledge 6F

Name Date Score

6x1l= 8x6= 36+6= 6x8= 60+6=
9x6= 3x6= 6x2= 6x3= 2x6=
6xb= 66+ 6 = 30+6= 10x 6= 12x6=
7x6:= 4x6= 24 -4 = 6+1= 24 -+ 6 =
6 x10 = 6x9-= 66 + 11 = 6 x11= 30+5=
42 + 6 = 6x6= 18+ 6= 30+6= 11x6=
18+ 3= I1x6= 72<+12= 12+6= 6+6=
54 + 9= 60+ 10 = 6x7= 42 +7 = 5x6=
6x6= 5x6= 12+2= 6x4-= 36 6=
72+6= 48 - 8 = 54 + 6 = 6 x12 = 48 + 6 =
- 6 X tables

Maths: Number Knowledge 6F

Name Date Score

6x1= 8x6= 36+6= 6x8= 60 =+ 6 =
Ox6= 3x6-= 6x2-= 6x3= 2x6=
6x5= 66+ 6 = 30+6= 10x6-= 12x6-=
7x6= 4x6= 24 =4 = 6+1= 24+6=
6 x 10 = 6x9= 66 =11 = 6x1l= 30-5=
42 +6= 6x6= 18+6= 30+ 6= 11x6-=
18+ 3= 1x6= 72+12 = 12+6= 6+6=
54 -9 = 60+ 10 = 6x7= 42 +7 = 5x6=
6x6= 5x6-= 12+2= 6x4-= 36+6=
72+ 6= 48 + 8 = B4 + 6 = 6 x12 = 48 + 6 =

- 6 x tables




Maths: Number Knowledge 66

Name Date Score

1x7= 7x8= 63 + 9= 6x7:= 9 x7=

7x7= 7x2= 7 1= 7x3= 7 +7=

36 +b= 9x7-= 7x9= 7x11= 11 x7=
70 +7 = 28 +4-= 42 +7 = 5x7:= 7x6=

77 +11= 7 x10 = 14 =7 = 49 +7 = 14 = 2=
3x7= 7x1= 8x7= 63 +7= 12x7=

8x7= 42 +6= 10x7-= 2x7= 70 10 =
7x12= 84 +7= 7x4-= 7x7:= 21+ 3=

4x7-= 21 =7 = 77 =7 = 56 + 8 = 84 +12=
7x6= 56 +7 = 35 +7= 28 +7 = 7x5=

- 7xtables.
Maths: Number Knowledge 66

Name Date Score

I1x7= 7x8= 63 + 9= 6x7= 9 x7=

7x7= 7x2= 7 1= 7x3= 7 7=

35 + b= O9x7= 7x9-= 7x11= 11 x7-=
70 =7 = 28 4= 42 +7= 5x7= 7x6=

77 = 11= 7x10= 14 +7= 49 +7 = 14 2=
3x7= 7x1l= 8x7-= 63 +7= 12x7=

8x7= 42 6= 10x7= 2x7 = 70 +10 =
7 x12 = 84 7= 7x4= 7x7= 21+3=

4x7= 21 =+ 7= 77 +7= 56 + 8 = 84 +12=
7x6= 56 +7 = 36 7= 28 +7= 7xb=

- 7 x fables,




Maths: Number Knowledge 6H

Name Date Score

1x8= 8x8= 3x8= 8+1= 4x8=

32+4:= 48 + 6 = 8x6= 8x10= 88+ 8=
12x8+= 8x1= 32+8= 8x9= 6x8=

7x8= 9x8= 11x8= 2x8= 96 + 8 =
24 8= 10x 8= 8:8= 8 x 8= 72:8=
16 ~ 8 = 5x8= 8x12= 8x5= 8x2=

96 =12 = 64 + 8 = 40 +5 = 72+9= 56+ 7 =
40 + 8 = 16+ 2= 8x7= 8x3= 64 + 8 =
88 +11= 8x1l= 8x10= 80 = 8 = 80+10=
48 + 8 = 8x4:= 24+ 8 = 56 + 8 = 24 =3 =

- 8xtables
Maths: Number Knowledge 6H

Name Date Score

1x8:= 8x8= 3x8= 8+1= 4x8=

32+4-= 48 - 6 = 8x6= 8x10= 88 + 8=
12x8= 8x1= 32+8= 8x9= 6x8=

7x8= 9x8= 11x8= 2x8= 96 + 8 =
24 -8 = 10x8= 8+8= 8x8= 72+ 8=
16 + 8 = 5x8= 8x12= 8xb= 8x2=

96 +12 = 64+ 8= 40+5= 72 +9= 56 + 7 =
40+ 8= 16 + 2= 8x7= 8x3= 64 = 8 =
88 + 11 = 8x1l= 8 x10 = 80+8= 80+10=
48 + 8 = 8x4-= 24 -8 = 56 - 8 = 24+ 3=

- 8 X tables




Maths: Number Knowledge 61

Name Date Score

6x9-= 72+9= 4x9-= 36 +9= 9x6=
81+9= 3x9= 9x9-= 9x12= 9+9=
2x9= 63+9= 99+ 9= 90+ 9= 9x7=
99 - 11= 7x9-= 1x9= 9x3= 18+9=
9x10= 10x 9= 6x9= 11x9= 8x9:=
27 +9 = 9:+1=z 90 +10= 108 + 12 = 54 - 6 =
5x 9= 12x9-= 9x5b= 9x1= 9x2:=
9x8= 54+ 9 = 8x9:= 81+9= 45 +9 =
36 +4-= 27+ 3= 18+2= 9x9-= 63+7=
9x1l= 108 +9 = 72+ 8= 45 +5= O9x4:=

- 9xtables
Maths: Number Knowledge 61

Name Date Score

6x9= 72+9= 4x9:= 36 +9= O9x6=
81+9= 3x9= 9x9-= 9x12= 9+9=
2x9:= 63+9= 99+9= 90+9= O9x7=
99 -+ 11= 7x9= 1x9-= 9x3= 18+9=
9x10= 10x9-= 6x9-= 11x9-= 8x9-=
27 +9= 9:1= 90 +10+= 108 = 12 = B4 - 6=
5x9-= 12x9 = 9x5= 9x1= 9x2-=
9x8= 54 + 9= 8x9-= 81+9= 45+ 9 =
36+4-= 27 + 3= 18+2= 9x9-= 63+7=
9x1l= 108 + 9 = 72+ 8= 45 +5 = O9x4=

- 9xtables




Maths: Number Knowledge 6J

Name Date Score
1x4-= 7x4= 36+ 4= 4-__ =1 4x___ =36
6x_ =12 o +11=4 36-____=6 6x8= 36 6=
= 8¢=6 72+12 = 4x5= 72+6= 20+b=
4x7-= 4x___ =12 ___X6=48 20+4-= __x11=44
6x6= 12x6-= __x6=12 = 2=6 10x 6 =
36 9= 12+4= 28+___ =4 48+~ =8 4:1=
44 + 4 = 4x6= 24+ 6 = 3x4:= 48 + 6 =
_x4=20 __+6=10 4x1= 6x10= =+ b6=12
60+10= 28 - 4 = 6x12= _ :4=6 12: =4
6x___ =24 28+7= 9x__ =36 1l1x4-= 6 x6=

- 4and6 x tables

Maths: Number Knowledge 6J

Name Date Score
1x4-= 7x4= 36+4-= 4+ =1 4x___ =36
6x__ =12 =+ 11=4 36+-____=6 6x8= 36 6=
=+ 8=6 72+12 = 4x5= 72+6= 20+ 5=
4x7= 4x___ =12 ___x6=48 20+ 4= ___x11=44
6x6= 12x6= __x6=12 __=2=6 10x6=
36 +9= 12+4:= 28+___ =4 48~ =8 4+1=
44 + 4 = 4x6= 24+ 6 = 3x4-= 48 + 6 =
_ x4=20 __+6=10 4x1-= 6 x 10 = = 6=12
60 +10 = 28+ 4= 6x12= x4 =6 12+ =4
6x___ =24 28 +7 = O9x____ =36 11x4-= 6x6=

- 4and6 x tables




Maths: Number Knowledge 6K

Name Date Score
7%x8= 7 %10 = Ox 9= 70+10 = 9 x =63
8x8= ___=+10=8 64 + 8 = _=10=9 90+ 9=
+9=7 9x9= ___x8=72 72+8= ____x8=80
8x9= 49 +7 = b6 + 8 = 56 +7 = 8x9=
9x10 = __x8=5b6 7x9= 49+ =7 80+8=
9x8= 9x6= +6=9 6x9= 63+7=
____x7=49 90+ 9= 3x9 7x%x7= ___x8=64
8Bx7 = 8 x 10 __%9=3 56 - 8 = 10x7=
____+9=10 ____+9:=8 54 +9 = 10x9= 8x7=
56 +___=8 64+ =8 +7 =10 ____+8=9 ____+9=8
-7.8,9 x table
Maths: Number Knowledge 6K
Name Date Score
7x8= 7x10= 9x 9= 70+10 = O9x___ =63
8x8= ____=:10-=8 64+ 8= __=+10=9 90+ 9=
+9=7 9x9= ____x8=72 72+8= ___x8=80
8x 9= 49 + 7 = b6 -8 = 56 =7 = 8x9=
9x10 = __x8=56 7x9= 49+ =7 80+ 8=
9x8= 9x6= +6=9 6x9= 63+7=
____x7=49 90+9-= 3x9 7x7= ____x8=64
8x7 = 8 x 10 ___*9=3 56 + 8 = 10x7=
_:9=10 ____:9:=8 54 +9 = 10x9= 8x7=
56 +___ =8 64+ ___ =8 =7 =10 ___+8=9 ___+9=8

-7,8,9 x table




Maths: Number Knowledge 6L - MULTIPLICATION CHALLENGE

Name Date Score

6x12= _____+6=5 ___x6=36 7x___ =21 66+ =11
70+7 = 8x___ =32 8 x10 = . *9=4 56 + 8 =
___x7=49 ___ +8:= 28+ 7 = 9x7-= __x11=77
_ +8=3 6x2= ___x9=81 6+6= 56 +7 =

88 + 8 = 72+8= 18+9= ___X6=48 8x8=
= 6=7 9x1l= 6x4-= _____+8=5h 6 x10 =
6x____ =48 108-__ =12 |_____ +7=2 7xb= B4+ =6
8x3-= 84+ =12 7x1= 42 + =6 _ x9=63
9x1= 8x12= 90+9= 9x3= 72+9=
9x___ =108 __+6=3 8x___ =16 54+ =9 9x_____ =45

- ALL times tables facts.

Maths: Number Knowledge 6L - MULTIPLICATION CHALLENGE

Name Date Score

6x12-= ____+6=5H ___x6=36 7x____ =21 66+-___ =11
70=+7 = 8x =32 8 x10 = __=+59=4 b6 ~ 8 =
. x7=49 __+8= 28+7= 9x7= . x11=77
___+=8=3 6x2= ____x9=81 6+6= 56 +7 =

88 + 8= 72+8= 18+9= ___Xx6=48 8x8=
____+6=7 9x1l= 6x4-= ___+8=5H 6 x 10 =
6x_____ =48 108+___ =12 |___ =+7=2 7xb= 54+ =6
8x3= 84+__ =12 7x1l= 42+ ___ =6 . Xx9=63
9x1= 8x12= 90+9-= 9x3-= 72+9=
9x___ =108 ____+6=3 8x____ =16 54 + =9 9x_____ =45

- ALL times tables facts.




Maths: Number Knowledge 6 M

Name Date Score

20+ 3= 17+2= 34+-5= 21+5= 7+3=
43 +10= 17+5= 15+3= 16 +3 = 64 + 10 =
13+2= 22+5b= 46 + b = 27 +5= 14+ 3=
9:+5= 50+5= 25+10 = 17 + 3 = 33+-10=
28 + 3 = 58 + 5 = 22+ 3= 39+5= 19+5=
47 + 5 = 19+3= 27 +5= 83+10= 31+ 5=
9+5= 67 =10 = 39+b= 615 = 14+ 3 =
20+ 3= 48 + 5= 23+3= 13:3= 19:2=
8+3= 10+ 3= 42 5= 57 -5 = 49 + 5=
17+ 3 = 42 - H = 11+5= 11+2-= 54 =10 =

2,35 & 10 x table with remainder (simpler version)
Maths: Number Knowledge 6 M

Name Date Score

120+3= 17+2= 34+5= 21+5= 7+3=
43 +10 = 17+5= 15+ 3= 16+ 3= 64 +10 =
13+2= 22+5= 46 + 5 = 27 +5= 14+ 3=
9:5= 50+ 5= 25+10= 17+ 3= 33-10=
28 -3 = 58 + 5 = 22+ 3= 39+5= 19+5=
47 +5 = 19+3= 27 +5= 83+10= 31+ 5=
9+5= 67 +10 = 39+b= 61+5= 14 +3=
20+ 3= 48 + 5= 23+3= 13:3= 19+2=
8+3= 10+3= 42+5= 57 + B = 49 =5 =
17 +3 = 42 + 5= 11+5= 11-2-= 54 +10 =

- 2,35 & 10 x table with remainder (simpler version)




Maths: Number Knowledge 6N

Name Date Score
21+2= 33+10+= _=+2=3rl 85+10= 11+2=
99+ 10 = _+10=2r3 |74+10= 79+10 = . +9=8r8
___=+b5=5r4 19+10= 17+2= 41+10 = 49 -10=
69 +10= 23+2= _ +4:=8r3 56 = 10 = 9:2=
3+2= 27 <10 = 32+10= __+7=2r2 22 +10+=
55+ 10 = __=8=7r4 __+7=10r2 39+10 = 36 10 =
7+2= 45 +10= 15+2= 17 +10 = 74 +10 =
37+10= 5:+2= __+2=4r1 72+10= __*b=4r2
___=+3=7r1 57 + 10 = 54 - 10 = ___+3=8r2 63+10=
77 +10 = 19+2= 29+10+= 92 +10= 13+2=

- 2and 10 xtables with v

Maths: Number Knowledge 6N

Name Date Score
21+2= 33+-10= __=2=3rl1 85+10 = 11+2=
99 =10 = ___+10=2r3 |74+10= 79+10= __+=9=8r8
__+b5=bHr4 19+10= 17+2= 41+10= 49 +10 =
69 10 = 23+2= _ +4:=8r3 56 + 10 = 9+2=
3+2= 27 <10 = 32+10= __+=7=2r2 22 +10=
55 +10 = __*8=7r4 __+7=10r2 39+10= 36 10 =
7+2= 45+ 10 = 15+2= 17 +10 = 74 +10 =
37+10= 5+2= ___+2=4r1 72+10= __+b=4r2
_+3=7r1 57 +10 = 54 =10 = __+3=8r2 63+10=
77 +10 = 19+2= 29-10= 92 +10 = 13+2=

- 2and 10 x tables with r




Maths: Number Knowledge 60

Name Date Score
10+3= 33+b= 34+5= 17+ 5= 7+___ _=2rl1
6+ =1rl ___+b=5br4 15+ 3 = 22+5= 61+5=
23+3 20+ 3= 46 +5= 39+5= 13+3=
9+5= 14 - 3= 38+3= _+3=1pr1 57 +5=
21+5= 58 + b = 22+ 3= 39+5= 19+5=
16 -3 = 19+3= 27 =5 = ___=b=1r2 31+5=
27 + 5= 28 + 3= ____+3=bHrl1 8+3= 14 + 3 =
20+ 3= __+b=9r3 123+3-= 47 =+ 5= 17 = 3 =
50 + 5 = 10+3= 42 -5 = 9+b= 49 -5 =
_+3=br2 |42+b= 11+5= 51+5= 5+__ =1lr2
- 5 &3 x table with remainder,

Maths: Number Knowledge 60
Name Date Score
10+3= 33:5= 34+5= 17+5= 7+____=2rl
6+ =1prl ___=+b=bhr4 15+3= 22 + 5= 6l1+5=
23+3 20+ 3= 46 + b5 = 39+5= 13+3=
9:5= 14+ 3= 38+3= _+3=1r1 57 +5 =
21+5= 58 + 5= 22+ 3= 39+5= 19+5=
16 + 3 = 19+3= 27 +5 = ___+b=1r2 31+5=
27 + 5= 28 +3= __+3=5r1 8+3:= 14 - 3=
20+3= ___+b=9r3 |23+3= 47 + 5= 17 = 3 =
50 =5 = 10+ 3= 42 +5= 9+5= 49 + 5=
__ +3=br2 (42+5= 11+5= hl1+5H= 5+ =1r2

- 5 & 3 x table with remainder,




Maths: Number Knowledge 6P

Name Date Score
12x9= 70+7 = 100 - 23 = 20+5= 90+ 10+=
81+-____ =9 6x6= 18+3= ___+78=100 6x =72
3x1l= 44 = 11= 11x12 = 18+ __ =6 12x11=
10x12 = 100 -~ 74= 76+_ =100 | __x10=90 _x12=108
12x 8= __x6=30 4x9= _ +4=7 55+ 5 =
121+ 11= 7x___ =35 36 = 6= 11x___ =110 64 -8 =
144 - =12 43+ =100 12+2= 53+__ =100 81+ =100
25+___=5H 5x3= 24-___=8 x__ =15 _x2=7
11x11= 49 +7= 9x9= 8 x =40 __+5=8
56 +___=7 4x6= 63+7 = 27+ 9= 100 - 26 =
" Nmber sonds 0100,

Maths: Number Knowledge 6P
Name Date Score
12x9= 70+7 = 100-23 = 20+5= 90+10=
81+ =9 6x6= 18+3= ____+78=100 6x =72
3x1l= 44 +11= 1Ix12= 18:+__ =6 12x11=
10x12= 100 - 74-= 76+ =100 | __ x10=90 __x12=108
12x8= __x6=30 4x9= __+4=7 55+ 5 =
121+11= 7x__ =35 36 = 6= 11x___ =110 64+ 8=
144 - =12 43+____ =100 12+2= 53+__ =100 81+ __ =100
25+ =5 Bx 3= 24: =8 x__ =15 _x2=7
11x11= 49 +7= 9%x9= 8 x = 40 __+b5=8
B6+ =7 4xb= 63+7= 27 +9 = 100 - 26 =

- ALL times tables facts.
- Number bonds to 100.




Maths: Number Knowledge 6Q???

Maths: Number Knowledge 6Q?2??




Maths: Number Knowledge 7A

Name Date Score
+ of 16 = 1/5 of 35 = 1710 of 60 = $of 64 = F0of 96 =
3 of 36 = % of 38 = fof 8= 2/8 of 40 = 2/5 of 30 =
Fof40= $o0f48= $o0f 24 = $of72-= 5/8 of 24 =
3 of 16 = 1/10 of 50 = 1/5 of 25 = 3/8 of 16 = 4/5 of 25 =
1/10 of 40 = + of 20 3 0of 50 = fof24:= 3/4 of 16 =
fof32= 1/5 of 55 = fof 48 = 1/5 of 60 = 3/10 of 70 =
1/5 of 20 = 1/5 of 30 = 1/10 of 30 = 3 0of 40 = 3/8 of 40 =
+of 28= zof B2 = $of32= 1/10 of 80 = 3/5 of 50 =
1/10 of 20 = 1/5 of 55 = zof 12 $0f 34= 1/10 of 120 =
$of 32= 5 of B6 = 5 of 88 = 1/5 of 45 = 8/10 of 110 =
- Caleulating halve 5 , quarter ¥ , eighth 5 ,1/5 a fifth, and 1710, a tenth of whole numbers.
Calculating other fractions of a number e.g. 3/8
Maths: Number Knowledge 7A
Name Date Score
3 of 16 = 1/5 of 35 = 1/10 of 60 = 3 of 64 = 3 0f 96 =
3+ of 36 = % of 38= Fof 8= 2/8 of 40 = 2/5 of 30 =
L of40:= $of48= % of 24 = $of72= 5/8 of 24 =
$of16= 1710 of 50 = 1/5 of 25 = 3/8 of 16 = 4/5 of 25 =
1/10 of 40 = 4 of 20 3 0of 50 = fof 24 = 3/4 of 16 =
fof32:= 1/5 of B5 = fof48= 1/5 of 60 = 3/10 of 70 =
1/5 of 20 = 1/5 of 30 = 1/10 of 30 = $0f40= 3/8 of 40 =
+of 28 = 3 of 52 = fof32= 1/10 of 80 = 3/5 of 5O =
1/10 of 20 = 1/5 of 55 = 7 of 12 $o0f 34= 1/10 of 120 =
§of 32 = F of b6 = $0of 88= 1/5 of 45 = 8/10 of 110 =

Calculating halve %‘ , quarter %‘ , eighth %‘ ,1/5 a fifth, and 1/10, a tenth of whole numbers.
Calculating other fractions of a number e.g. 3/8




Maths: Number Knowledge 7B

Name Date Score

2 of 16 = 4 of 20 = $of72= % of =8 2 of =18
Fof36= 2of =33 |20f28= 2 of 64 = $o0f72=

tof =4 % of 64 = % of 48 = % of =h4 |+of28=

2 of 80 = tof =29 |fof _____ =21 +of 52 = 3 of 24 =

zo0f 76 = % of 96 = % of =11 2 of =6 20f 36 =
$of32= % of =12 |§0of40= § of 48 = 3 of 48 =

tof =37 |}of32: 1of 38= 3 of 48 Yof =67
of =6 Lof =2 |3of_____ =33 |3of88= gof =3
5 of b6 = lof =67 |3of =6 |fofbb= $of =35
3 of =15 |$of =43 |Fof ___ =8 tof =12 |fgof ____ =9

_ Calculating halve & , quarter F ,eighth 3 of whole numbers.
Calculating the whole when given a fraction of an amount (e.g. ¥ of = 41)
Maths: Number Knowledge 7B

Name Date Score

2 0f 16 = $of 20= $of72= fof =8 3 of =18
fof36= 2of =33 |#o0f28= 2 of 64 = sof72=

% of =4 5 of 64 = fof 48 = % of =h4 |Fof28=

20f 80= Lof =29 (2of____ =21 fof B2 = $of 24=

$of 76 = 3 of 96 = % of =11 |3 of =6 |3of36=

2 of32= i of =12 |20f40:= 3 of 48 = 3 of 48 =

Lof =37 |20f32= %z of 38= 2 of 48 = of =67
4 of =6 tof =2 lof =33 |20f88= fof =3
5 0f b6 = tof =67 |3of = 6 5 of b6 = 2of =35
2 of =15 |3 of =43 |3o0f____ =8 tof =12 l$o0f__ =9

1 1
- Caleulating halve % ,quarter 4 ,eighth g of whole numbers.
Calculating the whole when given a fraction of an amount (e.g.  of = 41)




Maths: Number Knowledge 7C

Name Date Score
1/5 of 25 = 1/10 of 40 = 2/10 of 50 = 8/10 of 70 = 450f =12
8/10 of 20 = 4/5 of 30 = 1/5 of = 4 |2/50f 20 = 1/10 of 90 =
1710 of 60 = 2/50f =24 |1/100f _____ =9 |2/10 0f 100 = 4/5 of 25 =
3/10 of 50 = 5/10 of 70 = 1710 of 120 = 1w00f =7 Jywof _____ =5
2/10 of 20 = 3/10 of 90 = 2/5 of =18 |3/50f 10= 3imoof =21
1100f =3 |1/50f60= 3/10 of 60 = 9/m00f =45 |2/50f 45 =
i/50f =10 2/10 of 30 = 3/5 of 35 = 1/10 of 80 = 7/100f ______ =H6
2/50f =12 |y1oof =12 |5/10 0f 130 = 3nmoof =12 |2/100f 90 =
5/10 of 50 = 2/5 of =16 |s/00f =16 |1/50f =9 |8/100f 100 =
2/5 of 15 = 8/10 of 40 = 1/5 of 40 = 450f =32 |3/50fb5=

" alulating th whe when g a fractonof an amount (6., /5 0f -4

Maths: Number Knowledge 7€

Name Date Score
1/5 of 2b = 1/10 of 40 = 2/10 of 50 = 8/10 of 70 = 450f ___ =12
8/10 of 20 = 4/5 of 30 = 1/5 of = 4 |2/50f 20 = 1710 of 90 =
1710 of 60 = 2/50f =24 |\ywoof ______ =9 |2/10 of 100 = 4/5 of 25 =
3/10 of B0 = 5/10 of 70 = 1/10 of 120 = woof =7 |ywof__ =5H
2/10 of 20 = 3/10 of 90 = 2/50f ___ =18 |3/50f10= 3/100f =21
/100f =3 |1/50f 60= 3/10 of 60 = 9/10 of =45 |2/5 0f 45 =
150f =10 2/10 of 30 = 3/5 of 3b = 1/10 of 80 = 77100f _ =56
2/50f =12 |1/100of =12 |5/10 of 130 = 3/10 of =12 |2/10 0f 90 =
5/10 of B0 = 2/50f =16 |snmoof___ =16 |1/50f =9 8/100f 100 =
2/5 of 15 = 8/10 of 40 = 1/5 of 40 = 4/50f =32 [3/50fB5=

- Caleulating fifth (1/5) and a tenth (1/10) of whole numbers.
Calculating the whole when given a fraction of an amount (e.g. 1/5 of =

4)




Maths: Number Knowledge 7D

Name Date Score

1/3 of 30 = 1/7 of 49 = 1/9 of 81 = 2/7 of 14 = 8/9 of 18 =

1/7 of 14 = 1730f 15 = 17 0f 77 = 4/9 of 27 = 1/9 of 108 =
179 of 9= 1/7 of 28 = 1/3 of 24 = 2/30f 6 = 3/6 of 36 =

1/6 of 30 = 176 of 12 = 1/7 of b6 = 1/9 of 27 = 1/3 of 36 =

1/3 of 21 = 1/30f 33 = 1/6 of 6 = 2/30f 18 = 4/7 of 84 =
1/7 of 56 = 1/6 of 54 = 19 0f 72 = 2/6 of 24 = 3/7 of 35 =
1/9 of 99 = 1/9 of 45 = 1/7 of 35 = 1/7 of 84 = 5/6 of 12 =

1/3 of 18 = 1/9 of 54 = 173 of 27 = 2/30f 33 = 4/9 of 45 =
1/6 of 36 = 1/6 of 24 = 17 of 63 = 2/7 of 42 = 1/6 of 72 =

1/6 of 48 = 1/7 of 42 = 1/9 of 36 = 6/9 of 90 = 2/6 of 30 =

e e es g e e nd el pabers
Maths: Number Knowledge 7D

Name Date Score

1/3 of 30 = 1/7 of 49 = 1/9 of 81 = 2/70of 14 = 8/9 of 18 =

1/7 of 14 = 1/3 of 15 = 17 0f 77 = 4/9 of 27 = 1/9 of 108 =
/9 of 9= 1/7 of 28 = 1/3 of 24 = 2/3 of 6 = 3/6 of 36 =

1/6 of 30 = 1/6 of 12 = 1/7 of 56 = 1/9 of 27 = 1/3 of 36 =

1/3 of 21 = 1/3 of 33 = 1/6 of 6 = 2/30f 18 = 4/7 of 84 =

1/7 of 56 = 1/6 of 54 = 19 0f 72 = 2/6 of 24 = 3/70f 35 =

1/9 of 99 = 1/9 of 45 = 1/7 of 35 = 1/7 of 84 = 5/6 of 12 =

173 of 18 = 1/9 of 54 = /3 of 27 = 2/3 0of 33 = 4/9 of 45 =

1/6 of 36 = 1/6 of 24 = 1/7 of 63 = 2/7 of 42 = 1/6 of 72 =

1/6 of 48 = /7 of 42 = 1/9 of 36 = 6/9 of 90 = 2/6 of 30 =

- Caleulating third (1/3) and a sixth (1/6) , (1/7) seventh and (1/9) ninth of whole numbers.

Calculating fractions such as 2/7 efc.




Maths: Number Knowledge 7E

Name Date Score
1/3 of 24 = 1/6 of 42 = 2/3 of 27 = 1/30f /3 0f 9=
1/6 of 24 = 5/6 of 54 = 1/6 of 18 = 2/6 of 42 = 2/6 of
1/6 of 2/3 of 21= 460f 5/6 of 2/3 of 36 =
5/6 of 18 = veof =6 |2/30f _____ 1/3 0f 18 = 16 of
130f 3/6 of 30 = 5/6 of 36 = 46 of 1/6 of 12 =
2/6 of 72 = 1/3 0f 6 = 1/6 of 54 = 1/6 of 66 = 2/6 of 48 =
6 of 1/30f =10 |w6of 5/6 of 48 = 1/30f
1/3 of 15 = 16of =11 |wy3of 1/30f 3/60f
3/6 of 48 = 1/6 of 60 = 276 of ____ veof 1/3 of 30 =
2/30f 39 = 2/30f =18 |2/30f33= 1/3 of 12 = 1/6 of 30 =

Calating the shole hen gven by of an amouns (e, /3 of ___

Maths: Number Knowledge 7E

Name Date Score
1/3 of 24 = 1/6 of 42 = 2/3 of 27 = 130f ___ 1/30f 9=
1/6 of 24 = 5/6 of B4 = 1/6 of 18 = 2/6 of 42 = 2/6 of ___
wveof 2/30f 21 = 4/6 of 5/60f __ 2/3 of 36 =
5/6 of 18 = weof =6 |2/30f 1/3 of 18 = veof
i730f 3/6 of 30 = 5/6 of 36 = 4/6 of ___ 1/6 of 12 =
2/6 of 72 = 130f 6= 1/6 of 54 = 1/6 of 66 = 2/6 of 48 =
v6of 30f =10 |w6of 5/6 of 48 = 13o0f
1/30f 15 = veof =11 l130f 1/30f 3/60f
3/6 of 48 = 1/6 of 60 = 276 of wveof 1/3 of 30 =
2/3 of 39 = 2/30f =18 |2/30f 33 = /3 0of 12 = 1/6 of 30 =

Calculating third (1/3) and a sixth (1/6) of whole numbers.

Calculating the whole when given a fraction of an amount (e.g. 1/3 of




Name

Maths: Number Knowledge 7F

Date Score
1/7 of 21 = 2/7 of B6 = 2/9 of 90 = 17 0f 77 = 3/7 of =12
2/70f =14 lwy9of =3 |y7ofl4d= 179 of 72 = 1/7 of 3b =
1/9 of 18 = 1/7 of 63 = 2/9 of =24 |1/9 of 27 = 3/90f =15
2/70f 70 = 1/9 of 45 = 3/70f 42 = 1/7 of 56 = 5/7 of =25
2/9 of 18 = 6/90f =18 |w9of =7 |erof ____ =18 |2/70f42=
1/90f =11 |5/70f35= 1/9 of 36 = 1/9 of =8 |1/90fB54=
3/7 of 28 = 2/9 of 81= 1/7 of 70 = 4/7 of 63 = 8/9 of =72
5/9 of =35 |3/70f 14= 5/9 of 45 = 7/9 of =42 |y70f 49 =
1/7 of 42 = 2/7 of =6 |5/7of =30 |1/7of 28 = 1/9 of 108 =
6/7 of =48 |1/9 of 63 = 1/7 of 84 = 1/9 of 81 = 4/7 of 84 =
et e il e i ractonof an ameunt (o5, 1/7of ___=4)
Maths: Number Knowledge 7F
Name Date Score
1/7 of 21 = 2/7 of 56 = 2/9 of 90 = 1/7 of 77 = /7of =12
2/70f =14 |19 of =3 |w7ofl4d= 1/9 of 72 = 1/7 of 35 =
1/9 of 18 = 1/7 of 63 = 2/9 of =24 |1/9 of 27 = 3/90f =15
2/7 0of 70 = 1/9 of 45 = 3/70f 42 = 1/7 of 56 = s/7of =25
2/9 of 18 = 6/90f =18 |9 of =7 |2/7of =18 |2/70f42=
1/90of =11 |5/70f35= 1/9 of 36 = 1/90f =8 |1/90fbB4d=
3/7 of 28 = 2/9 of 81 = 1/7 of 70 = 4/7 of 63 = 8/9of =72
5/90f =35 |3/70f14= 5/9 of 45 = 7/90f =42 |1/70f 49 =
1/7 of 42 = 2/7 of =6 |5/70f =30 [1/70f 28 = 1/9 of 108 =
¢/70f =48 |1/90f 63 = 1/7 of 84 = 1/9 of 81 = 4/7 of 84 =

- Calculating seventh (1/7) and a ninth (1/9) of whole numbers.

Calculating the whole when given a fraction of an amount (e.g. 1/7 of

= 4)




Maths: Number Knowledge 76

Name Date Score
2orr=__ /7 34/6 = 18/5 = 9/4 = 13/3 =
51/8 = 22/6=___ /6 le/o=__/9 34/9=____ /9 33/10=___ /10
32/3=____ /3 30/4 = 635=___ /5 15/6 = 72/10 =
1576 =___ /6 12/5 = 31/3= 2%=___ /4 S5e/5=__ /5
34/4 = 53=___ /4 21/4 = ls/7=____ /7 |6%=___ /2
85/10 = 17/4 = 46/7 = 6as=__/5 19/4 =
26/8=____ /8 lo/mo=___/10 34/5 = 3a7=___ /7 34/9 =
7/2 = 20/8 = 22/3 = 313=____ /3 26/7=__ /7
4%=___ /4 43/5 = 22/4=_____ /4 29/4 = 81/8 =
17/3 = 345=____/5 |50/4= 25/7 = 29/5 =

- Changing improper fractions to a mixed number and vica-versa.

Maths: Number Knowledge 76

Name Date Score
2s1=__ /7 34/6 = 18/5 = 9/4 = 13/3 =
51/8 = 22/6=____ /6 lero=__/9 34/9=____ /9 33/10=____ /10
32/3=___ /3 30/4 = 635=___ /5 15/6 = 72/10 =
1576 =____ /6 12/5 = 31/3 = 22=___ /4 S52/5=___ /5
34/4 = iz /4 21/4 = 1s/7=____ /7 6+=__ /2
85/10 = 17/4 = 46/7 = bas=__ /5 19/4 =
26/8=__ /8 lo/mo=___/10 34/5 = 347=____ /7 34/9 =
7/2 = 20/8 = 22/3 = 313=____ /3 26/7=__ /7
4%3=___ /4 43/5 = 22/4=___ /4 29/4 = 81/8 =
17/3 = 345=____ /5 |50/4= 25/7 = 29/5 =

- Changing improper fractions to a mixed number and vica-versa,




Maths: Number Knowledge 7H

Name Date Score
52+ 2% = 9% = J169 = J9= J49 =
J81= 10° = 22 +2° = 112 = h? =z
12 +8% = 2% = 2% = B2 - 4%= 43 =
102 = J25 = 30% = J100 = 92 - 4% =
3% +4% = 72-3%= J144 = 10° = J16 =
2% + 7%= 3%= 132 = 42 = 122 =
J64 = 8% = 9%-7%2= /81= 42 +9% =
3% = 10%2-2°% = /36 = J225 = 20% =
62 = 152 = 42 4+ 42%= 5% = J121=
J121 = J144 = 72 = J4 = 82 =

- Squaring numbers or finding the square root.

- Cube numbers.

Maths: Number Knowledge 7H

Name Date Score
52 +2% = 92 = J169 = J9 = J49 =
J81= 10° = 2% +2%= 112 = 52 =
12 +8% = 2% = 2% = 5% - 4%= 43 =
10? = J2b = 302 = J100 = 92% .42 -
32 +4% = 7%2-3%= J144 = 10° = J16 =
2%+ 7%= 32 = 132 = 42 = 122 =
J64 = 8% = 9%-72= J81= 42 +9% =
3% = 102-2°% = J36 = J225 = 20% =
6% = 152 = 42 +4%= 5% = J121 =
J121 = J144 = 7%= J4 = 82 =

- Squaring numbers or finding the square root.

- Cube numbers.




Maths: Number Knowledge 71

Name Date Score /36
60=12,3456 72=12,34,6 35=

2" prime = 4™ prime = 2" prime + 5™ prime =
9= 32:=124 4t prime + 15" prime =
42:=12367 5™ prime + 7™ prime = 36=1234

15" prime = 24-1234 64=124

25 = 100 = 1,245 8™ prime =

52 =124 7™ prime = 84=1234,6

6™ prime = 18=12.3 3rd prime + 7™ prime =
30=1235,6 16=124 90=1235,6

5™ prime - 2" prime = 5™ prime = 3 prime =

49 = 81=139 44 =124

7t prime - 3™ prime = 9™ prime = 9™ prime + 6™ prime =

- Listing the factors of whole numbers (up to 100).(in harder ones some of the factors are given for you)
- Prime numbers (this does NOT include one) that are less than 20,

Maths: Number Knowledge 71

Name Date Score /36
60=12,345,6 72=12346 35 =

2" prime = 4™ prime = 2" prime + 5™ prime =
9= 32=124 4% prime + 15" prime =
42122367 5™ prime + 7 prime = 36:1234

15" prime = 24=123/4 64=124

25 = 100 = 1,245 8" prime =

52 =124 7™ prime = 84=12346

6™ prime = 18=12,3 3rd prime + 7™ prime =
30=12356 16=124 90:=-1235,6

5™ prime - 2" prime = 5™ prime = 3rd prime =

49 - 81-139 44:=124

7™ prime - 3 prime = 9™ prime = 9t prime + 6™ prime =

- Listing the factors of whole numbers (up to 100).(in harder ones some of the factors are given for you)
- Prime numbers (this does NOT include one) that are less than 20.



|

E

Maths: Number Knowledge 7J

Name Date Score /36
35/5 = 33/99 = 12/15 =
15/72 = 42/70 = 27/36 =
22/50 = 55/90 = 36/64 =
12/75 = 72/80 = 38/50 =
5/75 = 11/55 = 18/54 =
8/20 = 72/144 = 60/90 =
36/60 = 81/108 = 30/50 =
20/25 = 22/88 = 48/60 =
32/40 = 32/40 = 3/75 =
80/100 = 12/30 = 30/72 =
37/50 = 12/72 = 12/60 =
15/60 = 20/100 = 25/100 =

- Simplifying fractions.

Maths: Number Knowledge 7J

Name Date Score /36
35/5 = 33/99 = 12/15 =
15/72 = 42/70 = 27/36 =
22/50 = 55/90 = 36/64 =
12/75 = 72/80 = 38/50 =
5/75 = 11/55 = 18/54 =
8/20 = 72/144 = 60/90 =
36/60 = 81/108 = 30/50 =
20/25 = 22/88 = 48/60 =
32/40 = 32/40 = 3/75 =
80/100 = 12/30 = 30/72 =
37/50 = 12/72 = 12/60 =
15/60 = 20/100 = 25/100 =

- Simplifying fractions.




Maths: Number Knowledge 7K

Name Date Score /50
0.333 = 40/50 = 6/8 = 12/15 = 2/10 =
1/10 = 0.125 = 0.05= 0.60 = 0.250 =
3/b= 1/8 = 6/12 = 9/10 = 0.66 =
0.666 = 0.01= 2/5 = 0.11= 3/10 =
1/5 = 0.80 = 4/10 = 0.375 = 6/9 =
10/50 = 4/5 = 0.75 = 7/10 = 1/3 =
0.25 = 0.25= 1/5 = 2/8 = 0.750 =
0.17 = 0.13 = 5/8 = 0.07 = 0.20 =
2/100 = 05= 0.10 = 8/10 = 20/50 =
2/3 = 1/4 = 0.875 = 1/3 = 7/10 =
- Converting decimals to simple fractions and vica versa.
**% 1/3 = 0,33 recurring in this instance.
Maths: Number Knowledge 7K

Name Date Score /50
0.333 = 40/50 = 6/8 = 12/15 = 2/10 =
1/10 = 0.125 = 0.05 = 0.50 = 0.250 =
3/b= 1/8 = 6/12 = 9/10 = 0.66 =
0.666 = 001= 2/b = 011= 3/10 =
1/5 = 0.80 = 4/10 = 0.375 = 6/9 =
10/50 = 4/5 = 0.75 = 7/10 = 1/3 =
0.25 = 0.25= 1/5 = 2/8 = 0.750 =
017 = 0.13 = 5/8 = 0.07 = 0.20 =
2/100 = 0b= 0.10 = 8/10 = 20/50 =
2/3 = 1/4 = 0.875 = 1/3 = 7/10 =

- Converting decimals to simple fractions and vica versa.

***% 1/3 = 0.33 recurring in this instance.




Maths: Number Knowledge 7L

Name Date Score /36
10% of 60 = 33.3% of 63 = 25% of =41
75% of 96 = 10% of =8.2 20% of 90 =
% of60=15 50% of = 345 10% of 43 =
25% of 64 = % of90=675 33.3% of 669 =
75% of 48 = 20% of Bb = 25% of 72 =
% of505=505 25% of B2 = 75% of 64 =
10% of = 44 75% of =30 20% of 75 =
33.3% of 900 = 10% of 55 = 10% of =125
25% of 96 = 20% of 60 = 50% of = 69
50% of = 139 25% of = 65 33.3% of 420 =
10% of 330 = 75% of 52 = 10% of 210 =
25% of =19 10% of = 909 25% of = 155
- Calculate percentages of amounts: 10%, 20%, 25%, 33%, 50%, 75%.
Maths: Number Knowledge 7L
Name Date Score /36
10% of 60 = 33.3% of 63 = 25% of = 41
75% of 96 = 10% of =8.2 20% of 90 =
% of60=15 50% of = 345 10% of 43 =
25% of 64 = % of90=675 33.3% of 669 =
75% of 48 = 20% of B5 = 25% of 72 =
% of505=505 25% of B2 = 75% of 64 =
10% of =44 75% of =30 20% of 75 =
33.3% of 900 = 10% of b5 = 10% of = 125
25% of 96 = 20% of 60 = 50% of = 69
50% of = 139 25% of = 65 33.3% of 420 =
10% of 330 = 75% of B2 = 10% of 210 =
25% of =19 10% of = 909 25% of = 155

- Calculate percentages of amounts: 10%, 20%, 25%, 33%, 50%, 75%.




Maths: Number Knowledge 7M

Name Date Score

05x4-= 02+4= 08x03= 04x05= 11x06=
6x06= 0.6 x 0.7= 121+11= x07=42 |12x0.3=

072+ 9= 015+5= O9x______=072|08:2= 10x05=
0.33:3= 0.9x08= 008 +4:= 054 +9= 040-+0.8=

0.64 = 0.8= 08x12= 5x0.7= 21+7= 7x____ =021
0.2x8= ___ x8=048 |05x08= 0.42 = 6= 9x04-=
0.32+4= 09+3= 0.3x04-= 0.84+12= 0.7x7=
___x0b=3 |03x03= 9x_____ =045 |12x05= 144 +12=

056 + 8= 0.25+5= 0.63+0.7 = 8x0.7= 4x_______ =044
3x___ =024 |4x____ =24 |045-05= 9x___ =54 |6x0b=

- Multiplication of decimal numbers.
Maths: Number Knowledge 7M
Name Date Score

05x4:= 02+4-= 0.8x0.3= 04x05-= 11x0.6=
6x06= 0.6 x 0.7= 121+11= __x07=42 |12x03=
072+9= 015+5= 9x___=072|08+2= 10x 05 =
0.33+3= 0.9x0.8= 0.08+4-= 054 +9-= 040+08=

0.64 = 0.8= 08x12= 5x0.7 = 21+7= 7x_____ =021
0.2x8= _____x8=048 |05x08= 042 : 6= 9x04-=
0.32+4:= 09+3= 0.3x0.4-= 084 +12= 0.7x7=
_____x0b=3 0.3x0.3= 9x____ =045 |12x05-= 144 +:12=

0.56 + 8 = 0.25+5= 0.63+0.7 = 8x0.7 = 4x____ =044
3x____ =024 |4x_____ =24 |045+05b-= 9x______ =54 |6x0b=

- Multiplication of decimal numbers.




Maths

: Number Knowledage 7N: CHALLENGE 1

Name Date Score /36

21+7-= J144 = 7% =

8x___ =48 % of =14 1000-746 =

7/8 of =56 0.6% = 54 - =9
+7=9 2 of =35 4/9 of B4 =

Double =192 108 = =9 Double =176

30% = 618 + = 1000 21+7=

1.1x_ =121 052 = Halve of _ =87

2/8 of =6 Double =156 042 =

1000 - 357 = 2/50f =8 122 =

Double =352 J169 = 0b5x0.8=

2/7 of 56 = Halve of ___ =48 32+4-=

12x_ =72 2/3 of =16 407 + = 1000

- ALL multiplication facts (including decimals)
- Squaring numbers and calculating the square root.
- Caleulating fractions of amounts.

Doubling and halving

Maths: Number Knowledge 7N: CHALLENGE 1

Name Date Score /36

21+7= J144 = 7% =

8x___ =48 z of =14 1000-746 =

7/8 of = 56 0.6%= 54 - =9
-7=9 5 of =35 4/9 of 54 =

Double =192 108 = =9 Double =176

30% = 618 + = 1000 21+7=

11x =121 052 = Halve of ____ =87

2/8 of =6 Double =156 042 =

1000 - 357 = 2/5 of =8 122 =

Double = 352 J169 = 05x0.8+=

2/7 of 56 = Halve of ____ =48 32+4-=

12x_____ =72 2/3 of =16 407 + = 1000

ALL multiplication facts (including decimals)
- Squaring numbers and calculating the square root.
- Caleulating fractions of amounts.

Doubling and halving




Maths: Number Knowledge 70: CHALLENGE 2

Name Date Score /36
1/10=0.___ 33% of 60 = lers=_ /9
75% of 76 = 025=1/____ % of435=435
31/3=____ /3 20% of B0 = 1/5=0.___
% of 260=625 % of 46 = 23 1/8 = 0,

46/4 = /4 5a2/5= /B 25% of 52 =
10%of =36 ___ % of120=40 13/3 =
0375=3/____ 20% of 160 = 50%of =57
37/8=____ /8 2/10=0_____ 22/3=____ /3
33% of 36 = 52/7 = /7 2 %= /4
075=___ /4 20% of = 60 10% of 515 =

14/6 = /6 94/9=__ /9 7/8=0___

50% of = 38 T of44=33 $=0__

- Changing improper fractions to a mixed number and vica-versa. (e.g. 43/5 =8 3/5)
- Converting decimals to simple fractions and vica versa.
- Calculate percentages of amounts: 10%, 20%, 25%, 33%, 50%, 75%.

Maths: Number Knowledge 70: CHALLENGE 2

Name Date Score /36
1/10=0.___ 33% of 60 = lero=__ /9
75% of 76 = 025=1/__ 7% of435=435
31/3=____ /3 20% of 50 = 1/5=0.____
% of 260=625 % of 46 = 23 1/8 = 0,

46/4 = /4 52/5= /5 25% of B2 =

10%of =36 % of120=40 13/3 =
0375=3/____ 20% of 160 = 50%of _____ =57
37/8=___ /8 2/10=0__ 22/3=____ /3
33% of 36 = 52/7 = /7 2 %= /4
075=___ /4 20% of = 60 10% of 515 =

14/6 = /6 Qa/9=____ /9 7/8=0__

50% of _____ =38 _ %of44:=33 $=0__

- Changing improper fractions to a mixed number and vica-versa. {e.g. 43/5 = 8 3/5 )

- Converting decimals to simple

fractions and vica versa.

- Calculate percentages of amounts: 10%, 20%, 25%, 33%, 50%, 75%.




Maths: Number Knowledge 8A

Name Date Score /50
123 x 10 = 147 x 10 = 408 = 10 = 4501 x 10 = 478 x 10 =
234 =234 |198+10= 14.7 x 100 = 107 x10 = 413 =413
3042+ 10 = 4.6 x 100 = 501+ 100 = 087 __ =870 |___ +1000=168
3.28x10= 04___ =40 __ +10=247 718 = 100 = 10.7 x 10 =
31410 = ___+10=303 354 =354 |__ x1000=1500 |_____+100=136
 -1000-051 |643+10+= 0.36 x 100 = 52+10= 6.71 x 100 =
5.2 x 100 = 4302 = 100 = ___x1000=1820 |_____+100=0.44 |099_____ =990
108 =0.108|___ x100=180 |035x10= 909 =909 |___ +1000=3.02
78.5 + 100 = 2.08 x 10 = ___ x1000=305 |4.06 x 100 = 16.8+10=
__ x10=345 207 =2070 |1397x10= ___=1000=0.75875+100 =

] er::«‘:;ytizdr:s\giz 'iﬁ;ﬁi’iﬁf; ;ci)\?ec:\' the result of x / + by10, 100, 1000, e.g. % 100 = 2300

Maths: Number Knowledge 8A

Name Date Score /50
12.3 x10 = 147 x 10 = 408 -+ 10 = 4501 x 10 = 478 x 10 =
234 =234 |198+10= 14.7 x 100 = 107 x 10 = 413 =413
3042 - 10 = 46 x 100 = 501+ 100 = 087__ =870 |____ _+1000=168
3.28x10+= 04 _ =40 ____+=10=247 718 + 100 = 10.7 x 10 =
314+ 10 - — .10-303 |354___ =354 |__x1000=1500 |_+100=136
____+1000=0.51 |643+10= 0.36 x 100 = 5.2+ 10 = 6.71 x 100 =
5.2 x 100 = 4302 =100 = ___x1000=1820 |_____+100=044 099 _____ =990
108 =0.108|___ x100=180 |035x10= 909__ =909 |___ +1000=3.02
78.5 + 100 = 2.08 x 10 = ___x1000=305 |4.06 x 100 = 16.8 - 10 =
___ x10=345 207 =2070 |1397x10= ____+=1000=0.75|87.5+100 =

] gzg:ﬁ;yfigdn:lsvsﬁz Zég'wlﬁf;\ ;?\?eon. the result of x / + byl0, 100, 1000. e.g. x 100 = 2300




Maths: Number Knowledge 8B

Name Date Score /40

2% = 2 = 43 = HCF 45 and 18 =
43 .23 = J64 = 2%+5% = J27 =

3% = 122 = HCF 5 and 10 = 53 =

/8 = HCF 12 and 15 = J144 = 5*-3°=

10% - 3= 152 = 2% +2° = HCF 90 and 15 =
53+ 2 = 23+ 7% = HCF 50 and 35 = 20% =

HCF 14 and 4 = 32+2%= 132 = HCF of 3 and 6 =
102 - 4= HCF 24 and 16 = J64 = J121 =

103+ 4°3= 7%= 1% = 102 =

HCF 32 and 40 = J169 = J225 = HCF of 30 and 12 =

- To the power of eg. 23 =8
- Highest Common Factor (HCF) e.g. of 24 and 20 is 4 (4 x 6 and 4 x 5)

Maths: Number Knowledge 8B

Name Date Score /40

2% = 2 = 43 = HCF 45 and 18 =
4% -23 = J64 = 2°+5? = ; J27 =

3% = 122 = HCF 5 and 10 = 53 =

J8 = HCF 12 and 15 = J144 = 5% -3%=

10% - 3= 152 = 23 +23 = HCF 90 and 15 =
53+2 = 23+ 7%= HCF 50 and 35 = 20% =

HCF 14 and 4 = 3?+2° = 132 = HCF of 3 and 6 =
102 - 4= HCF 24 and 16 = J64 = J121 =

10°+4°= 7% = 1% = 102 =

HCF 32 and 40 = J169 = J225 = HCF of 30 and 12 =

- To the power of e.g. 23= 8

- Highest Common Factor (HCF) e.g. of 24 and 20 is 4 (4 x 6 and 4 x 5)




Maths: Number Knowledge 8C

Name Date Score /40
2" multiple of 6 = LCM of 2.and 9 = LCM of 4 and 10 = 8™ multiple of ___ =48
LCM of 3and 5 = 8™ multiple of 4 = 5™ multiple of 3 = LCMof 12and ___ =84

multiple of 7 = 14

LCM of 3and 9 =

LCM of and 7 =77

LCMof 6 and 9 =

LCM of 12 and 6 =

10™ multiple of 11 =

multiple of 6 = 18

12" multiple of 7 =

5t multiple of ____ =35

LCMof 11and b =

12" multiple of ___ = 60

LCM of 6 and 8 =

LCM of 4 and 6 =

multiple of 5= 25

LCM of 6 and =42

LCM of 7 and =56

7™ multiple of 5 =

LCM of and5:=15

9t multiple of 8 =

multiple of 9 =72

LCM of 8and 3 =

3™ multiple of 12 =

LCM of 3and 12 =

LCM of 12 and 4 =

6™ multiple of 7 =

4t multiple of ___ =32

11t multiple of 12 =

4th multiple of 9 =

LCMof 12 and 5 =

LCM of and 3=6

LCM of 8and b =

LCMof4and 2 =

- Give multiples of numbers up to 12 x 12,
- Give the Lowest Common Multiple (LCM) of multiples up to 12 x 12.

Maths: Number Knowledge 8C

Name Date Score /40
2" multiple of 6 = LCMof 2and 9 = LCM of 4 and 10 = 8™ multiple of ____ =48
LCM of 3and 5 = 8™ multiple of 4 = 5t multiple of 3 = LCM of 12 and ___ =84

multiple of 7 = 14

LCM of 3and 9 =

LCM of and 7 =77

LCM of 6 and 9 =

LCM of 12 and 6 =

10™ multiple of 11 =

multiple of 6 = 18

12" multiple of 7 =

5t multiple of ___ =35

LCMof 11and b =

12™ multiple of ___ = 60

LCMof 6 and 8 =

LCM of 4 and 6 =

multiple of 5= 25

LCM of 6 and =42

LCM of 7 and = h6

7™ multiple of 5 = LCM of and 5= 15 | 9™ multiple of 8 = _____multipleof 9=72
LCM of 8 and 3 = 3" multiple of 12 = LCM of 3and 12 = LCM of 12 and 4 =

6™ multiple of 7 = 4™ multiple of ____ =32 |11™ multiple of 12 = 4th multiple of 9 =

LCM of 12 and 5 = LCM of and3=6 |LCMof8and5= LCM of 4and 2 =

- Give multiples of numbers up to 12 x 12.
- Give the Lowest Common Multiple (LCM) of multiples up to 12 x 12




Maths: Number Knowledge 8D

Name Date Score /30
subtract 1/6 from 6/9 = 2§ 4 3 2
/ / Difference between 9 and 9= Difference between” 4 and 4=
oL 1 2 1 3 3

Difference between 3 and 3= Add B and 5= Add 4and 4=
4/10 +3/5 = 12 2 3/5+2/6

‘ ] Sum of and =

z 2 3/4 -1/10 = 4 3
Add Zand 4= _ Difference between®and S=
1/2 + 2/4 = 2 2 1& 1

/ ] / Subtract” from 4= Difference between 7 and 4=
£ 1 6/8-1/2 = 3 5l
Sum of Yand 4= Add 8and 3=
2% & 8/10 - 2/4 = 11/12 - 3/4

Sumof S and 6= _ .
12/15~2/5 3 1 a2

/ 5 / Difference between %and ®= Add “and 4=

53 3l 14/16 - 3/8 = 7/8-2/3 =
Add ‘and =

a 2 32 3l 2 2
Add Sand 4= Add " 4and 4= Subtract4 from 9=

- Add and subtract fractions with different denominators and express in the simplest form. (eg. 3+ 4=1%)

- Calculate the missing values when given digits that are part of a fraction equation.

Maths: Number Knowledge 8D

Name Date Score /30
Subtract 1/6 from 6/9 = 2§ 4 2§ 3
Difference between” 9and 9= Difference between 4 and 4=
1 1 2 1 3 3
Difference between S and 5= Add “6and 5= Add 4and 4=
4/10 + 3/5 = 12 2 3/5+2/6
v Sum of and *=
Iz 3/4 -1/10= -
Add Zand 4= » ‘ Difference between ®and B=
1/2 +2/4 = 2 2 18 2
] Subtract” from %= Difference between ~ 7 and 4=
s 4 6/8-1/2 = s 3%
< = - = 3 3
Sum of Yand 4= Add “8and 3=
2t 1 8/10 - 2/4 = 11/12 - 3/4
Sum of “and ©= . ]
3 4 2
12/15-2/5 = 5 =
/ / Difference between “4and 9= Add Zand 4=
33 % 14/16 - 3/8 = 7/8-2/3=
Add “8and 3= ;
4 2 32 a3l 3 2
Add Sand 4= Add “4and 4= Subtract? from 9=

- Add and subtract fractions with different denominators and express in the simplest form. (e.g. 3+ 2=1%)

- Calculate the missing values when given digits that are part of a fraction equation.




Maths: Number Knowledge 8E

Name Date Score /40
0.125 x 560 = __x72=36 0.2 x 560 = 0.2 x =16
0.33x60= __ x888=222 05 x 570 = x 81 =27
0.25 x 364 = 0.1x 2490 = 07bx___ =18 __ x700=175
0.1 x 1456 = 0.33 x 630 = x 826 = 413 92 x0.25 =
05 x162= 0.75 x 4800 = 0.1x = 645 0.5x930=
__x012b5=2 _xb20=130 0.33x42:= 0.125 x 400 =
0.2 x4b= 025x_____ =99 x45=9 0.25x720 =
0.33 x 597 = 0.125 x 960 = x 636 = 318 x 67 =67
066 x_____ =150 x 90 =30 0.875x 32 = 0.33x 303 =
x 1218 = 406 (0.2 x 340 = 0.2 x110 = x 600 = 120
- Multiply decimals (less than one) by whole numbers.
0 ety souvlont 1o thidand il b s o5 such 1 he et (e 0.66 5t thics)
Maths: Number Knowledge 8E
Name Date Score /40
0.125 x 560 = _ x72=36 0.2 x560 = 0.2 x =16
0.33x60= __ x888=222 05 x570= x 81 =27
0.25 x 364 = 0.1 x 2490 = 075x____ =18 . X700=175
0.1 x 1456 = 0.33x630+= x 826 = 413 92 x0.25 =
05 x162= 0.75 x 4800 = 0.1 x = 645 0.5x930:=
__ x0125=2 _xb20=130 0.33x42= 0.125 x 400 =
0.2x45= 026x______ =99 x45=9 0.25x 720 =
0.33 x 597 = 0.125 x 960 = x 636 = 318 X 67 =67
066x_____ =150 x 90 =30 0.875 x 32 = 0.33x 303 =
x 1218 = 406 0.2 x 340 = 0.2 x 110 = x 600 = 120

- Multiply decimals (less than one) by whole numbers.
- Calculate the missing value in an equation when multiplying whole numbers by decimals numbers,
**% N B. 0.33 is approximately equivalent to a third and will be used as such in the test (and 0.66 is two thirds)




Maths: Number Knowledge 8F

Name Date Score /40
84+7= 56+____ _=0.07-= 0.9 x0.07 = 12x60-=
08x09= 980 +70 = 16 x4:= 49 - 0.7 =
8.4 +70-= 1.2x40= 18x5= 66+ ___=11
0.3x06¢= 6.4 + =0.8 720+09= 0.7x0.8=
52+13= 56 + 40 = 16 x3= 3.6+ =12
___+=700=07 72+08= 11x05-= 011 x70=
42+-___ =07 144 + 120 = 560 = 80 = 04x18=
048+ 6= 98 + 0.7 = 07x4:= 560 + =0.7
04x05= 054 +6= 72+-04-= 5x16-=
0.12 x 300 = 0.5x0.08 = 13x04-= 0.7x0.6 =

Multiplying or dividing 2 decimal numbers using times table facts.

e e st vlos 1 an i sheh ulilying o cviing 2 decinal mumbers,

Maths: Number Knowledge 8F

Name Date Score /40
84 7= 56+___ _=007= 0.9 x 0.07 = 12x60=
0.8 x0.9:= 980 + 70 = 16 x4-= 49 + 0.7 =
84+70= 1.2x40= 18x5= 6.6+ __ =11
03x0.6= 6.4+ =0.8 720+0.9 = 07x08=
52 +13 = 56 + 40 = 16 x3:= 3.6+ =12
_____=700=0.7 7.2+08¢= 11x05= 011 x70=
42+__ =07 144 - 120 = 560 = 80 = 04x18=
048 -6 = 98 -0.7 = 07x4-= 560+ ___ =07
04x05= 054+6= 72+04 = 5x16=
0.12 x 300 = 05x0.08 = 1.3x04:= 0.7x06 =

- Multiplying or dividing 2 decimal numbers using times fable facts.
Use double and halve facts (e.g. 14 x 5= 7 x 10)
- Calculating the missing value in an equation when multiplying or dividing 2 decimal numbers.




Maths: Number Knowledge 86

Name Date Score /36
3/4 x 10/11 = 2/6 x 6/10 = 4/8 x 8/11 = 1/2x2/3=
5/7 x 4/13 = 4/13 x 6/10 = 13/7 x2/6 = 1/6 + 2/4 =
8/9x4-= 4/6 x 4/15 = 10/11x 1/2 = 3/4 x4/10 =
4/6 x 1/6 = 1/3 + 2/3 = 7/9 x1/12 = 91/6 x 4/5 =
2/5 x 10/11 = 2/8 x9/15 = 6x4/12 = 4/10 x 2/8 =
1/2x1/8 = 3/15x7/9 = 1/5 + 2/6 = 3/b + 3/5 =
1/2 + 1/5 = 6/7 x 9= 6/13 x1/5 = 2x8/12 =
5/11x 4/7 = 1/9 x12/14 = 7 6/9x1/3 = 2/9x1/4=
7/9 x 3/4 = 3/6 + 4/5 = 1/4 x 3/6 = 5/12 x 1/3 =

Multiplying and dividing fractions.

Multiplying using improper and mixed number fractions.

simplifying fractions.

Maths: Number Knowledge 86

Name Date Score /36
3/4 x 10/11 = 2/6 x 6/10 = 4/8 x 8/11 = 1/2x2/3=
5/7 x 4/13 = 4/13 x 6/10 = 13/7x2/6= 1/6 + 2/4 =
8/9x4= 4/6 x 4/15 = 10/11x1/2 = 3/4 x4/10 =
4/6 x1/6 = 1/3 + 2/3 = 7/9 x1/12 = 91/6 x 4/5 =
2/5 x 10/11 = 2/8 x 9/16 = 6 x4/12 = 4/10 x 2/8 =
1/2 x1/8 = 3/15x7/9 = 1/5 + 2/6 = 3/5 + 3/5 =
1/2 = 1/5 = 6/7x9 = 6/13 x 1/5 = 2 x 8/12 =
5/11 x 4/7 = 1/9 x 12/14 = 76/9x1/3= 2/9 x1/4 =
7/9 x 3/4 = 3/6 + 4/5 = 1/4 x 3/6 = 5/12 x 1/3 =

Multiplying and dividing fractions.

Multiplying using improper and mixed number fractions.

Simplifying fractions.




Maths: Number Knowledge 8H

Name Date Score /36

5% of 1200 = 40% of = 264 30% of 210 = 42% of 7500 =

21% of 360 = __ %of268=536 % of 456 = 4,56 7% of7200=1080
12 % of 420 = 3% of 120 = 9% of 870 = 15% of 5400 =
____%of570=114 6% of 800 = % of540=108 |22% of 8000 =

15% of 68 = 15% of 90 % of375=75 |49% of 2500 =

_ %of 750=500 |6% of 560 = 30% of 640 = 333%o0f =74
9% of 460 = 11% of 640 = % of280=112 % of 900 = 180
11% of ___ =968 % of375=125 5% of 480 = 40% of 520 =

30% of 420 = 7% of 420 = 60% of =670 |____ % of 810=89.1

- Calculating harder percentages of amounts, e.g. 5, 15, 21, etc...
- Solving percentage Q with some missing values.

Maths: Number Knowledge 8H

Name Date Score /36

5% of 1200 = 40% of ____ = 264 30% of 210 = 42% of 7500 =

21% of 360 = % of268=53.6 |__ % of 466 =456 7% of 7200 = 1080
12 % of 420 = 3% of 120 = 9% of 870 = 15% of 5400 =
____%ofb70=114 6% of 800 = % ofb40=108 |22% of 8000 =

15% of 68 = 15% of 90 % 0of375=75 |[49% of 2500 =

% of750=500 |6% of B60 = 30% of 640 = 333%o0f =74
9% of 460 = 11% of 640 = % of280=112 |___ %of900=180
11% of __ =968 % of375=125 5% of 480 = 40% of 520 =

30% of 420 = 7% of 420 = 60%of =570 |__ % of810=289.1

- Caleulating harder percentages of amounts, e.g. 5, 15, 21, etc...
Solving percentage Q with some missing values.




Maths: Number Knowledge 81

Name Date Score /24

48 :24=1/6 ] 6:[ ]=12:8= 9:[ ] 8:9= [ 1:72 =[] :045
205:82=[ |16 =41:[] [ 24=6:12=9:] 7:[ J=42:36

4:-2—:2:[: D:20:3:10 [[]:09= 12:12

36:4= []:6= 27:[] 14:[]= 7:3= 2t:[] 3:4=]]:10
[[]:05=10:25=40:] 5:15=3:[ ]=45:_] [ ]:3:4:6= 10:[]
[1:13=72:12 [[]:12=2:48=15:] 28:[ ]=14:4
29:58=4/8:[ ] 54:6=[ ]:9=[_]:03 56:[ = 7:5= 14:[]

48 :6=24:[ |=96:_] 32:[ =85 24:4=48:[]

- Ratios with decimals & fractions

Maths: Number Knowledge 81

Name Date Score /24

48 :24 = 1/6 1] 6:[ _J=12:8= 9:[_] 8:9= []:72 =[] :045
20.5:82:[:]:16:41:[_—_] |:]:24:6:12:9:E___] 7:[ J-42:36

4:3=2] ] [[]120=3:10 []:09= 12:12

36:4= []:6= 27:[] 14: = 7:3= 2t:[] 3:4=[]:10

[ ]:05=10:25=40:[] 5:15=3:[ |=45:[] []:3=4:6= 10:[]

[ Jws=72:12 [[]:12=2:48=15:[ ] 28:[ ]=14:4

29:58=4/8: ] 54:6=[ ]:9=[_]:03 56:[ = 7:5= 14:[]

48 :6=24:[_]=96:] 32:[ ]=8:5 24:4=48:[]

- Ratios with decimals & fractions




(Maths: Number Knowledge 8T ANSWERS)

4B: 24 =176 DA:IHE

6&:1 |=12:8:=05b :l Iﬁz41f’3

8:9:] |:72 Abd

205 82 =[:l :16=41 :D A4 164

D:24=6:12=9:DA:3!72

7423 As

41 Al

[20:=3:1045

D:O.Q:E:I.Z AQ.6

36:4:[:]:6:2? :D AB4 3

>28:D:

7 3= 4 JALZ6

36:4=9:[] A10

[]:05=10:25=40:]A210

5:165:3:[]=45: |A9.135

[:3=4:6=024:Ja:2036

D:1f3:156:36 Al3

D 12 =2:48 =15: l Iﬂ 0.5 368

28:[ |-14:4 AS

29:58241'3:[:] Al

54:6 :D: 9= D: 03A8127

D:ﬁ&:"‘:ﬁ:lﬁr: D A:40 10

48:6:24:5296:DA:312 32:D:8:5 A20 24:.4:z48; Al
(Maths: Number Knowledge 8T ANSWERS)

48 24 =16 | A/12 6:|:|=12:8=0.5:| |A:4j_.c"3 B8:9=] |:72 AB4

2'3.5:82=D:16=41:DA:4164 D:24=6:12=9:DA:372 D 42:36 A

Fi-2[]AlA []:20:3 1046 Dog §:12 AUG

3614:D:6=2TTD Abd 3 232D2T13:14fl IA:IEG 3.6:4-= Al0

[]:05=10:25=40:]A210

5:15=3:[]=48:[]A9.135

[:3=4:6=024 JA:2036

[:':1/3:156:36 Al3

D 12 =2:46 =15 l I&:O.E 368

28:[ ] 14:4 ASB

29:58=‘VB:|::| Al

54:6 = D: 9= D: 0.3A8127

D:E&: 7:0:14: D A:40 10

4B:6=24:[ ]=96:[ JA3l2

32 [ ]-8:5 A20

24:4:=43. A2




Maths: Number Knowledge 8J

- Algebraic Equations (add and subtract)
- find value of y using times tables facts and adding/subtracting

- Pay attention to x at the top of each column

Name Date Score /36
[V=3x+12 = 81= [ | x +18 Y= 12x - 4 = y=[ | x+8=57
Y= x + 48 = Y= 3x + 13 = Y= bx + 4 = y= x - 14 = 49
Y= 2x + 13 = Y=T7x+7 = Y= 4x - 8 = Yz 2x - 17 =
Y= Bx + 475 = 29= X +2 Y= 7x - 14 V=4x+2-4=
35 Jx+ 20 Y= 4x + 17 = y=[ Jx +15=30 Y=8x+15 =
v |x-14=21 Yz 6x - 41 = Y= 3x-14+12 = 74=[ Jx-3
Y= 11x - 65 = V= 2x-19 = 42z |x+6 v=| ]x+19=40
Y= bx - 48 = 74=[]x+ 1t Y= 11x - 12 = =[] x-15+3=23
Y= 45x - 65 = Y= 8x - 12 = 50= [ |x+ 11 \/='10>'<+D = 84
x= B x=9 x= 3 x=7
e e s oo ot/ subrat
- Pay attention 1o x at the top of each column

Maths: Number Knowledge 8J
Name Date Score /36
Y= 3x +12 = 81= [ | x +18 y=12x - 4 = y=[ | x+8=57
Y= x + 48 = Y= 3x + 13 = Y= bx + 4 = y= x - 14 = 49
Y= 2x + 13 = Y=7x+7 = Y= 4x - 8 = Yz 2x - 17 =
Y= Bx + 475 = 29= X +2 Y= 7x - 14 Y=4x+2-4=
35 |x + 20 Y= 4x + 17 = y=[ Jx +15=30 Y=8x+15=
o[ [x-14=21 V= bx - 41 = Y=3x-14+12= 74=[ Jx-3
Y= 11x - 65 = y=2x-19 = 42=[ Jx+6 v= [ ]x+19=40
Y= bx - 48 = 74=[]x+ 1t Y= 11x - 12 = y=[] x-15+3=23
Y= 45x - 65 = Y= 8x - 12 = 50= [ [x+ 11 \/:'10>'<+|:] = 84
x=5 x=9 x= 3 x=7




Maths: Number Knowledqge 8J Answers

Name Answers Date Score /36
x=5 x=9 x=3 x=7
Y= 3x + 12 = 28 81=x-18[]=7|Y=12x - 4 = 32 Y=7x + 8 = 57
Y= x + 48 = 53 Y= 3x + 13 = 40 Y= bx +4 =22 Y= Ox - 14 = 49
Y= 2x + 13 = 23 Y=7x+7=70 Y=4x-8=4 Y= 2x - 17 = -3
Y= Bx + 475 = 500 []29= x+21[1= [Y=7x-14=7 V= 4x + 2 - 4= 26
3
35=[ |x+20 []=3 Y= 4x + 17 = 53 Y= Bx + 15 = 30 Y= 8x + 15 = 71
Y= 7x - 14 = 21 Y= bx - 41 = 13 Y=3x-14+12=7 74:[_|x-3[]:11
Y= 11x - 65 = -10 Y= 2x-19 = -1 42=[ |x+6[1=12  |¥=3x+19=40
Y= 6x - 48 = -18 74=[|x+1111=7 y=1lx-12 = 21 Y= Bx - 15+ 3= 23
Y= 45x - 65 = 160 Y= 8x - 12 = 60 50= [ |x+11[1=13 Y= 10x + 14 = 84
- Algebraic Equations {add and subtract)
- find value of y using times tables facts and adding/subtracting
- Pay attention to x at the top of each column
Maths: Number Knowledge 8J Answers
Name Answers Date Score /36
x=5 x=9 x=3 x=7
Y= 3x +12 = 28 [ ] 81=x-18[]=7 |y=12x-4=32 Y= 7x + 8 =57
Y= x + 48 = 53 Y= 3x + 13 = 40 Y= bx+4=22 Y= 9x - 14 = 49
y= 2x + 13 = 23 Yy=7x+7=70 Y=4x-8=4 Y= 2x - 17 = -3
Y= Bx + 475 = 500 D29: x+2[]= |Y=Tx-14=7 Y=4x +2 -4 =26
3
355 |x+20 []=3 Y= 4x + 17 = 53 Y= 5x + 15 = 30 y=8x+15=71
Y= 7x - 14 = 21 Y= 6x - 41= 13 Y=3x-14+12=7 74=] |x-301=11
Y= 11x - 65 = -10 V=2x -19 = -1 42=[ [x+6[1=12  |¥=3x+19=40
Y= 6x - 48 = -18 74=[x+1100=7 Y= 11x - 12 = 21 Y= Bx - 15+ 3 = 23
Y= 45x - 65 = 160 Y= 8x - 12 = 60 50= E]x +11[]=13 Y= 10x + 14 = 84

- Algebraic Equations {add and subtract)

- find value of y using times tables facts and adding/subtracting

- Pay attention to x at the top of each column




Maths: Number Knowledge 8K

Name Date Score /32
y=b,z=6 y=7 ,2=3 y=9 ,z=4 y=2 ,2z=8
2(5y-2z) = 4yz+12 = yx[_]z =108 V8 ez ~(2+10) =
5(z-y)+2 = 2z X yz = y: -z= zx0.25x0.5 =
5+2z-3y = 72%+3z = (y-z) x5 = % y?z%+80=
2(3y-22) = (zx4)x 11 + (y+4) = (z x 2)+1-y = 2% =
y? = y}’xz= ZXZXZ= z2x075+y? =
(y-2z)x 8 = y? = y? = (z+y) +% of 16 =
3y®z = yz?-2z+2 = yz? = yd x z-22 = 42
z® = 4z x(z*-4) = z%+y x 28 = 4yz + 37 =
e . oltplcaion,Adio,Subraction,Sqred, Cbed
-Remember fo pay attention to what y and z are

Maths: Number Knowledge 8K
Name Date Score /32
y=5 , z=6 y=7 ,2=3 y=9 ,z=4 y=2 ,2=8
2(5y-22) = 4yz+12 = yx[_Jz =108 VO 2 —(z+10) =
5(z-y)+2 = 2z X yz = y® -z= zx0.25x0.5 =
5+2z-3y = 722+3z = (y-z) x5 = % y?z?+80=
2(3y-2z) = (zx4)x 11 = (y+4) = (z x 2)+1-y = 2% =
y? = y> xz-= ZXZXZE= zx075+y®=
(y-2z ) x 8 = y? = y? = (z+y) +3 of 16 =
3y®z = yz?-z+2 = yz? = yO x z-22 = 42
z® = 4z x(z*-4) = 2+ yx 28 = 4yz + 37 =

-Algebraic Equations

-Brackets, Division, Multiplication, Addition. Subtraction, Squared, Cubed

-Remember to pay attention to what y and z are




Maths: Number Knowledge 8L

Name Date Score /40
10° 1° /289 /361
234.78+100= 172 45,34-19.69= 45.06+10=
132 2125 122 93
0.76+34.78 14.7x100= 34.98+19.35= J121
76.56+54.111= 034x___ =272 28.3+____ =0.283 0.17x6
11.2487x1000= 0.67x7= 45+13+123= 10.007x100=
4% 162 0.37x13= V343
73 51+0.51354= 11° 12.64-8.78=
23.68-19.98 142 137.4-2.75= 0.372x100=
15.77- =13.8 1133+ =b4.21 93 176.23-154.975=
Maths: Number Knowledge 8L
Name Date Score /40
103 13 J289 /361
234.78+100= 172 45,34-19.69= 45.06+10=
132 *J125 123 N
0.76+34.78 14.7x100= 34.98+19.35= J121
76.56+54.111= 0.34x_____ =272 28.3-___ =0.283 0.17x6
11.2487x1000= 0.67x7= 45+13+123= 10.007x100=
42 162 0.37x13= 2343
73 51+0.51354= 11°3 12.64-8.78=
23.68-19.98 142 137.4-2.75= 0.372x100=
1577~ =13.8 1133+ =H4721 93 176.23-154.975=




Maths: Number Knowledge 8L ANSWERS

Name Date Score /40

10* 1000 11 /289 17 J361 19
234.78+100= 17% 289 45.34-19.69= 25.65 45.06+10= 4,506
132 169 *J125 5 12° 1728 93 729
0.76+34.78=35.54 14.7x100= 1470 34.98+19.35=54.17 /121 11
76.56+54.111= 130.671 |0.34x0.08=2.72 28.3+-8.0089=0.283 0.17x6=1.02

11.2487x1000= 11248.7 |0.67x7= 4.69 45+13+123=181 10.007x100= 1000.7
42 16 16% 256 0.37x13= 4.81 3343 =7
7% 343 51+0.51354= 5151354 |11 ° 1331 12.64-8.78= 3.86

23.68-19.98= 3.7

14% 196

137.4-2.75= 134.65

0.372x100=37.2

15.77-1.97=13.8

11.33+42.88= 54.21

9% 729

176.23-154.975= 21.255

Maths: Number Knowledge 8L ANSWERS

Name Date Score /40

10* 1000 1% 1 /289 17 J361 19
234.78+100= 172 289 45.34-19.69= 25.65 45.06+10= 4,506
132 169 *J125 5 12* 1728 9% 729
0.76+34.78=35.54 14,7x100= 1470 34.98+19.35=54.17 J121 11
76.56+54.111= 130.671 |0.34x0.08=2.72 28.3+8.0089=0.283 0.17x6=1.02

11.2487x1000= 11248.7 |0.67x7= 4.69 45+13+123=181 10.007x100= 1000.7
4% 16 162 256 0.37x13= 4.81 24343 =7
7% 343 51+0.51354= 5151354 |11 * 1331 12.64-8.78= 3.86

23.68-19.98= 3.7

142 196

137.4-2.75= 134.65

0.372x100=37.2

15.77-1.97-13.8

11.33+42.88= 54.21

9% 729

176.23-154.975= 21.255




